Nl

—All for dreams

FLE <WAVE

WP series

7 I 4 A U B

A High precision reducer

ZFwDIFSA JF7DJ)05-H%R &4t

NIDEC DRIVE TECHNOLOGY CORPORATION
BAABEY VRMREHIE 2023F4818IC T1Z27v 7 RS54 777 /09 -KRAait) ICHBEELE L



(BT OMIE] 2 MDA IZb DAEZ L VEETT

"Relentless Refinement of Technology",

FLEXUWARVE

JLyORox—7




BB DHBNG
DD 5,

Tractioning Your Future

INDEX

LineUp/Shsmi&Rk

LineUP / Parts configuration
IR
Reduction mechanism

3
4
BR SR WA L 4
5

Parts name / Reduction ratio

BEE

Model selection

VERZEZFLE

High torque type B2
PERES: Zil bWl a3 6

Reducer model / Specifications

ik 7

Dimensions table

FapaT (SR ) 12

stimation (Elastic bearing)

FOHEH (T ) 13

Life estimation (Main bearing)

ANBDFFRTE 15
Maximum load at input shaft
HEEH 16

Lubricant information

IAHEREE 17

Attachment fixture requirement

fRZENLY 18

Transmitting torque

ATIEREE 21

Input section structure

EREE 22

Installation and assembly instructions

TS5BS HE 23

Motor installation procedure

HET—% 24

Characteristics data

BEEIAT A
Standard type A
PERL s bW a3 47

Reducer model / Specifications

~HER 48

Dimensions table

Frenat B (LT ) 53

Life estimation (Elastic bearing)

FanalH ( TW% ) 54

Life estimation (Main bearing)

ANEDHFRTE 56
Maximum load at input shaft
TBH 57

Lubricant information

BHERE 58

Attachment fixture requirement

mEMLY 59
Transmitting torque

ATERREE 62
Input section structure

ARER 63

Installation and assembly instructions

TS5BS HIE 64

Motor installation procedure

BET—% 65

Characteristics data

w"EY47D
Flat type D
BURMERIT / (AR 75

Reducer model / Specifications

k% 76

Dimensions table

FanatH (R ) 81

Life estimation (Elastic bearing)

FFaatHE (W) 82

Life estimation (Main bearing)

ANEDHFREE 83
Maximum load at input shaft
eVl 84

Lubricant information

B fHEE 85

Attachment fixture requirement

fENILY 86
Transmitting torque

T e 83
Installation and assembly instructions

BHET—% 89

Characteristics data

¥y Rg47
Gearhead type
PERL S itV a3 97

Reducer model / Specifications

~HER 98
Dimensions table

FanatE (BT - T8
103

Life estimation
(Elastic bearing & Main bearing)

HEH - ENLY 104

Lubricant information & Transmitting torque



FLEXUWAVE

Lineup

B A+—7V& Opentype

WPU-[]-[]-SNH
WPU-[]-[]-SDH
WPU-[]-[1-SRH
[3=y R94 7 (zZ8) Hollow unit

WPU-[]-[1-SNJ
WPU-[J-[1-SRJ
[SZ=URSA 7 (AJ#) Input shaft unit

WPS-[]-[J-SN WPS-[]-[1-SD
WPS-[]-[J-SR
[ f53=v k%4 7 Simple unit

2 O0—X# Closed type

WPC-[]-[J-CF WPC-[]-[1-CR
WPC-[]-[J-CN WPC-[J-[1-CD

JAVRRY b4 7 Component

WPU--0-CF WPU-I-0-CD
WPU-[J-[0-CN WPU-[J-[J-CDH
WPU--O-CR

a=vy k&4 7 Unit

WPG-[-[-CR
¥~y K% 4 7 Gearhead

GRSy

Parts Configuration

AL (#EH)
Cam(elliptic)

EMEER (ERW - ZIEE)

Elastic bearing(thin / flexible)

Ty 2FY (BA - £ ATHE)
Flex gear (thin / flexible)

AVEFILEY

Internal gear



R A
Reduction Mechanism

RS - T Ly I AF Y H LICKoTEARKIC
ERSEET.

FEARBMBOMEmE CILYIRT AV IS
FYHNSVAREHENET,
AVIFNFVFEEEL. H LR HEIC360°
EERSEeE AVIFALFFETLYIZAFTTD
WHEDSLEIF. 7Ly I AF VA REET A EIC
EERLEYS

-Flex gear and elastic bearing take elliptic
shape with the cam inserted.

-Flex gear and internal gear are engaged
at both ends of the long axis of the ellipse
in a stable manner.

-With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And
its rotational speed is determined by the
tooth count differential between two gears.

e e

Closed type
Parts Name

TLYIREXY

Flex gear

ABFILEY

Internal gear

=

Elastic bearing

BAAL
Elliptic cam

F—7VE

Open type

D

T

- A8 ILFY
Internal gear
TLyyREY ] %

Flex gear

\\:3§§;\\%HﬁA
Elliptic cam

1

T

IR L

Reduction Ratio

Input

Output

WL = ——

Input

Reduction ratio

I/TD

A
A

™1

Output

AN BIERTT [ & A [EER T [ AN

*The input and output rotation directions are opposite.

@ R (LIBEHERRR DIBGELE

I7TD

Bl
£

™I

HEL = —L

R+1 Input Output

AN EER & HAEES AR C

*The input and output rotation directions are same

R represents the 'Ratio’ figure in the specifications table on the next page.



RIS TE Model selection

BAZEEDRN

Model selection flow

R | ZH NS BT R DHERR
SEEH ALY - FHEEHR -SUTIVEE
RAHAMLY  -REEEH - TEIVILEE

- E—AVMMIE

Reducer operating conditions

- Maximum output torque - Axial load

- Average rotation speed + Moment load
+ Maximum rotation speed

- Average output torque - Radial load h

EHEHOREL |e—

Re-evaluate the operation conditions

<€

R DB K EREE

Temporary selection of a model

ST EH 5 an DHERR

Calculate the life span of the elastic bearing

NG
Tz FHOMHR
Calculate the life span of the main bearing
NG
lﬁiﬁixﬁi@ﬁﬁm
Calculate the load condition at the input bearing
NG

R DR TR TE

Reducer selected

BHXDOREL

Re-evaluation of the model



High torque type B2 [gr/o5+7B2]

SRR Reducer Model Nomenclature

WP

C

35

CR

50 * ok

V) -4 947 HA X B LE a—R* i
Series name type Size Ratio Code Specifications
WP —X C:IvRF b4 35 50 CR ANinfEeE
Component type
WP Series S : 51547 42 80 Input shaft
Simple unit type SR d?ameter,
U:a=vho47 50 100 etc.
A=y AT (A7) SRH
=y A7 (FRZEH) 63 120
Unit type
Input shaft unit
Hollow unit 80 160 SRJ
. - MO— FEEMZTEARECHERIZE L,
.ﬁ%i‘% Ava|lab|l|ty For the code details, please check
Ratio mz?tr‘\x the Dimensions Table.
Sy z22% 50 | 80 | 100 | 120 | 160
GE) 35
o 42
L
50
63
80
> ASRN e .
SRR Reducer Specifications
2 %3 4 %5 %6 ®7
R ER AR IR AR AT HREE N
| s NILY NILY MLy AD B AN EEE SRR
"j',’f A | Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lt
Size R torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
85 80 10 30 61 3000 8500
100 10 36 70
50 21 44 91
80 29 56 113
42 100 31 20 123 3000 7300
120 31 70 112
50 33 73 127
80 44 96 165
50 100 52 107 191 3000 6500
120 52 113 191
160 52 120 191 10000
50 51 127 242
80 82 178 332
63 100 87 204 369 3000 5600
120 87 217 395
160 87 229 408
50 99 281 497
80 153 395 738
80 100 178 433 841 3000 4800
120 178 459 892
160 178 484 892

# 1 R1EZ p.4 ORICANTRELE RO T EEL,
3% 2 ADEHES 2000r/min OB HET 5 BAME

3 EEH - BLRICHAT B EANE

W 4 EEEHYER LB CHAT 3BAME

# 5 IR T 2 FA D EEROBANE

# 6 B ICHAT AN EEROBANE

% 7 ADEEES 2000r/min, FAEH b L0 BEEOEAI

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.
*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.

FLEXWAVE WP>1U—-X

=k
917B2

High torque
type B2

SuooNJIsul

suoneayoads
/ I9POI\ Joonpay

(Buueaq urepy) | (Buueaq onse|3)

uonewnse o

1yeys Induy
18 PEO| WNWIXB|\

e

Juswalinbal

pue uone|eIsu| | ainjonis uooss INduj | enbiol Bupiwsuell | 8INIXI} JUBWYOBNY | UoIBWLIOU JUBDLIgN|

Alquesse

ainpaooid

uone|[eIsul 010N

8|ge| suolsuawi(

uoinewnse oy

1R SONSIIBI0BIBYD

FrF
| PHRE b B

S

TUOENS > | () SRR IM A | (dErem) ML

S}

o~

[
= T

Ik i >

i K R




i

High torque type B2 [gr12517B2]

~FyE3R Dimensions Table

HO0—XB AVRARVINIAT
Closed Type, Component

WPC-[1-]-CR

LE

F M
H |G
HD cy
o
24T N-@LU
RO.3LLF
— T - ~. (D\}\
& W(s9)
— si—H 5 = . \
8|32 S 202 — N
= SIES) @ co.5 Q| g Ul / ¥
8 S — 8 - [
S /
[ = ] . o
Y == T
Qg,/—\ o @SH (H7)
O SL 4
SU . 2-M3x4 - - :
. = ElEE—XV
@ "j's’f Al Weight Moment of inertia
|
1 e kg x10"*kgm?
, 35 0.10 0.0362
42 0.17 0.0831
INPUT SHAFT FOR 35842 50 0.26 0.190
63 0.43 0.414
80 0.91 1.54
[mm]
**sz ex IA| B |LC| N | LW /| T |LE|LF|LG|LH|LM|SG|SH]| S| w
35 | 44 | 38 | 50 | 8 | 35| M3 | 285|175 | 6 2 | 11 | 14 | 6 | 185 -
42 | 54 | 48 | 60 | 16 | 35 | M3 | 325| 20 | 65 | 25 |125| 18 | 8 |207 | -
50 | 62 | 54 | 70 | 16 | 35 | M3 | 335 |215| 75 | 3 | 12 | 21 | 12 | 215]| 4
63 | 75 | 67 | 85 | 16 | 45 | M4 | 37 | 24 | 10 | 3 | 13 | 26 | 14 | 216| 5
80 | 100 | 90 | 110 | 16 | 55 | M5 | 44 | 28 | 14 | 3 | 16 | 26 | 14 | 236| 5
P e/_‘ T | su|sa|sB|sSp| M | sT|sv | HD|ca|cB|cx|cy|cz
35 | - | 25| 17 | 11 | 23 | 6 | 45 | M3 | 24 | C03|C03| 171 | 1 38
42 | - 3 | 19| 10 |272] 6 | 55| M3 | 3 |Cco5/C03| 19 | 1 45
50 13.8 - 24 16 32 8 55 M3 C05 | C0.3 | 20.5 1.5 53
63 | 163 | - | 30 | 20 | 40 | 8 | 65 | M4 C05|C03| 23 | 15 | 66
80 | 163 | - | 40 | 26 | 52 | 8 | 88 | M5 | 32 | C05 CO5 268 | 15 | 86

1 ADEBEMIC DL TR BIRHARIC THER 12 E L
2 CX, CY. CZ 34— AMEBHEEHETY,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CX, CY, CZ are recommended dimensions.



1=1a%%

[mm]

9147B2
High torque
type B2
2D (i
8 & B
5o i
5z &
> — o 3% =
JO—RE 2=y 547 ==
Closed Type, Unit o +
. E  |EEE-—XV g &
"j'sff7\ Weight Moment of inertia 2 X
WPU-[1-[1-CR - kg x10kgm? 4
35 0.50 0.0362 5
42 0.68 0.0831 T %;g
50 0.95 0.190 EL
o3 =
63 1.5 0.414 82 o
80 33 1.54 e g
2 & |
LE 5 2
LF M o2 =t
H_ LG [k (g i H
&Y' O-rin N-LU es =
(A) 9 ]
O-ring — N-LT =
— —P— » 52 A
——p & )2 E% %jg;
/ v&m) 53 2
— S ==
Ela E [ 2N g Y [ [ \ 5 %
=|3[=¥ p == 7' A 2 &=
29|35 @i ZRNEE Ay -
Q g Q \// \7} E_r s
z s B
= J == ( z A
1 g N —— = S
abl \{}_@/ SH (H7) s
sU 2-M3x4 Xl st 3z W |
_ £8 fF
m|y YA R O-ring R
I @ Size A B 2l E
35 | 29.0 x 0.5 S50 5
42 | 345 % 0.8 S56 ¢ L
INPUT SHAFT FOR 35842 50 |40.64 x 1.14 S67 5 &
63 |53.29 x 0.99]  S80 g J%
80 S71 5105 2
5 7

YAX LA | B | LC|LD| N | LT |LU|LE|LF|LG|LH|LK|LM|DB|SG Ul
s B
35 | 65 | 56 | 73 | 31| 8 | M4 | a5 | a1 | 27| 7 [ 35| 2 | 14| 38| 14 . B
42 | 71 | 63 | 79 | 38 | 8 | M4 | 45| 45 | 20 | 8 | 4 | 2 | 16 | 48 | 18 g i
50 | 82 | 72| 93 | 45 | 8 | M5 | 55 |455] 28 | 10 | 5 | 3 |175] 56 | 2f L
222 Iif
63 | 96 | 86 | 107 | 58 | 10 | M5 | 55| 52 | 36 | 10| 5 | 3 | 16| 67 | 26 £p 'j;j
80 | 125 | 113 | 138 | 78 | 12 | M6 | 65 | 62 | 45 | 12 | 5 | 3 | 17 | 90 | 26 275 &
YAR sH | sL | W | T |SU|SA|SB|SC| M |ST|HD|CX|CY]|cCZ 25 = B
&= &
35| 6 |185] - | - | 25| 23 11| 8 | 6 |Maxs 95| 16| 1 | 38 5 m
42| 8 |207] - | - | 3 |27 10| 7 | 6 |mMsx8 95| 13| 1 | 45 S h
50 | 12 |215] 4 |138| - | 32| 14| 10| 8 |Mex9 9 | 15| 15 53 o |
63 | 14 |216| 5 |163| - | 42| 20 | 15 | 8 |vex1w0 12 | 34 | 15| e6 s B
80 | 14 |236| 5 |163| - | 55 | 26 | 20 | 8 |woxte] 15 | 52 | 15 | 86 g )
)
¥ 1 ADEEMICDOWTIE, BRTERICTHEELSIZE WL, *1 For details in the input section, please check the drawings. &

W 2CY, CZIZT —ARERHER~TETT, *2 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X 8



i

High torque type B2 [gr12517B2]

~FyE3R Dimensions Table

F—T VR EHIZy ’NIAT

Open type, Simple unit

R = BHEE—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-[]1-SR - kg x10"kgm?
35 0.39 0.0362
42 0.55 0.0831
50 0.79 0.190
63 13 0.414
80 07 154
LE
LF LM
SC LJ LH
LG
cY
N-LT
s — (D\}
/ W(JS9)
(@Y 4 |
NEE Q@ONEE \
Bk AR iy
[NIEN Q| Q N
[ /I
(%’[ﬁ 1 SL@SH (H7)
EIaY ‘\(\0\5\
& a8
sL //’T‘\\* )‘) 1 LN
/8/12 EQUAL 16/20 EQUAL
frou ) fom ‘%;
S
Y % ‘
ha ‘*ﬁ_rx
NAAT" N-LT”
INPUT SHAFT FOR 35842 ARRANGEMENT FOR35 ARRANGEMENT FOR 42
[mm]
*fsﬁzex IA | LC | LE| LF|LG|LH| W |M|scg|SH|sL|w]| T |su|sa|sB
35 | 44 | 50 | 285|235| 6 | 7 |141| 5 | 14 | 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325/265|65 | 75| 16 | 6 | 18 | 8 |207| - - 3 |74 60
50 | 62 | 70 |335| 29 | 75 | 85 |175| 45 | 21 | 12 |215| 4 | 138 - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 | 26 | 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 | 234 o6 | 14 |236| 5 |163| - | 132 | 114
YAX sc|sD| M | ST |CcA|Cy|Cz|cv cw| N LT
35 | 24| 70 | 8 | 35 |C04| 1 |38 | 17| 31 | 8 |[M3x5, ¢35x6
42 | 3 | 80 | 12 | 35 |C04| 1 | 45 | 21| 38 | 16 M3 x6, ¢ 35x 65
50 | 3 | 90 | 12 | 35 |C04| 15 | 53 | 2 | 45 | 16 M3x6, ¢ 35x 7.5
63 | 33 | 110 | 12 | 45 |C04| 15 | 66 | 2 | 56 | 16 |M4 x 7, ¢ 45 x 10
80 | 36 | 142 | 12 | 55 |C0o4| 15| 86 | 2 | 73 | 16 |M5x8, ¢ 55 x 14

¥ 1 ADEEHMEIC DOV TR, BIETARIC THERCIZE WL,

#2CV. CW, CY, CZ 37 —AANEEHEEEHETT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



1=1a%%

9147B2
High torque
type B2
O
S =
go &
8% =
=T VB A=y NyA T (FRZEEH) S
Open type, Unit (hollow shaft) o +
. £ [BHET-—xvb 2 /&
*j'sff7\ Weight Moment of inertia 2 R
WPU-[1-[1-SRH - kg x10"kgm? 4
35 0.72 0.0924 3
42 1.0 0.207 s &
o BO
50 1.4 0.408 g2 &f
>3 =
63 2.1 1.06 85 J?Fi
80 4.2 272 e g
LE HE3E
LG LF LH gg gﬁ
L | 55
38 =
T B
52 A |
— 2% A
22 %
=== =l=l | = 8 =
cl<|z =Y = O o A
23| 23 =2 - N
& B
S B
2 1]
El
= g
LQ A |
Sz
ss fif
3-5U 33 ﬁ
S22 X
w%& =
‘\, » X =
fs/ 2EQUAL) T /20 EQUAL ‘( ° |
T / ; ! 5 =
= | A % o : =
X o = ¥
o a
INPUT SHAFT FOR 35842 ARRANGENMELI\ETFORBS ARRANGEM%LNTTFORLZ g v
[mm] R
¥4 X i 4
Size LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR g ;:.%[S
2 &
35 44 36 54 70 | 525 | 205 | 12 20 75 8 9 25 | 55 | 65 g =
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 5.5 6.5 3%; o M
50 62 50 75 90 | 515 | 25 5 215 7 9 10.5 - - - é%% g
63 77 60 90 | 110 | 555 | 26 6 235 6 85 | 105 - - - 3<§ "
80 | 100 | 85 | 115 | 142 | 655 | 32 7 26.5 5 95 12 - - -
g £ |
8g |
: &= &
*7%41 SA | sB | sCc | sSD| SE | SF | M | ST | sU | N LT 52 i
1z€ 5 ff
35 64 - 14 20 74 36 8 35 | M3 8 |M3x5 ¢35x115 s 7%
42 74 - 19 25 84 45 12 | 35 | M3 16 | M3 x 6, ¢ 3.5 x 12 Q @
50 84 | 255 | 21 30 95 - 12 | 35 M3x6 16 |M3x6, ¢ 3.5x 135 % _T
63 | 102 | 335 | 29 38 | 115 - 12 | 45 M3x6 16 |M4x7, ¢ 4.5x 155 2 5
80 | 132 | 405 | 36 45 | 147 - 12 | 55 M3x6 16 |M5x8, ¢ 55x 205 5 |

FLEXWAVE WP>1—X 10



11

i

High torque type B2 [gr12517B2]

~FyEZFR Dimensions Table

F—TVE A=y NyAT (A S1EH)

Open type, Unit (input shaft)

. = EBHEE—XV B
"jé’f Al Weight Moment of inertia
WPU- ] -[1-SRJ e kg x10“kgm?
5 0.65 0.0266
42 0.91 0.0666
50 1.4 0.155
63 2.1 0.382
80 41 1.28
LE
LG LF LH
L LK LJ
M-gST
FOT
/ | N LR
B SC sV 228 La E
|/ N =| o = =
o—{&H <} I
Q)L)P 3 /’ ° E
| 2
NS =1
= 1=
Lp
- ﬂ 4 -+
erl =1 R
Fameaua P we0paual ¥
os Voo : 1 "
P ‘ ) ‘
= \“T'X \“k‘r—t’{‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-H-Séez LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
89 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 72.5 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX sa | sB | sC | SE| SV |Sw | M | ST |SU| N LT
& 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6,¢ 35x%x135
63 102 14 11 115 5 5 12 45 M5x10 16 |[M4 x7,¢ 45 x%x 155
80 132 14 11 147 5 5 12 55 M5x10 16 |[M5x 8, ¢ 55 %205




=k
917B2

High torque
type B2

FEanet = (REIMEERSE) Life estimation (Elastic bearing)

9T
8 2 BE
go
s 2
W @ % T
S S ETE =
Life span for the elastic bearing e ¥
o0 - o ~ | | S
- Eiﬁ/\g_/ T1 } ! z
Operation cycle example aRE Ly ' T, 3 %
Working torque } T, | T, —C =
! 5%
1 5 i3
i i fime g2 &
n, sS &
n] n3 e \%
sC =2
Hh ETE s ix
Output rotati gg &
Suipgrromion 1ty | & [t |t | pyp 53 ®
Time as =
.
DFHHA MY - BAHA ML DEH = A
Calculation formula for output torque 23 %jg;
50
3 3 Nt 3 g =
FHEBD bLY Tao | Nm  Tao=s| ™ bl T[4 e | To| 4 oeet Mo e[ T -7
Average output torque neti+n,oteeen t, e [
E M
= g B
BAEAMILY Tmo Nm Tmo =T, T, T, DEXKXIE 2 l
Peak output torque value Tmo = Largest among Ty, Ty, - T, g
BAREN ML DFEERENLUTTCHD L& THRESEEWL j% -
Please make sure the peak output torque is below the maximum output torque in the specification table. ‘g" % {E:?
R
QFHANEES - BE AN EEEOE i1
Calculation formula for mput speed 5
—
TS EEEH , Mt Enytteeen,tt 5 B
Average output rotation speed nao r/min  nao t+ bt et it § j%
2
5 7
15 H 77 [EIER 2K nmo | r/min 70T N1z T PRANE g
Peak output rotation speed nmo = Largest among ny, ny, *** n, = A —
YA S EEREL - ; = = 3 — rati g A
Average input speed nai | r/min  nai=nao x R (R=E&L ) (R=ratio) S
c =
7 A ElEREL : - . . _ rati —
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R =ratio) 382 X
EON =
BRSNS HARBANEERL T TH 5 C L CRRL L E W, cfs 3
Please make sure the peak input speed value is below the maximum input speed in the specification table. §
@ﬁ H‘J'Fﬁﬁmn-l_% — = L
Calculation formula for life span 88 //lg
Q5
lar nar s f
Part l|fi¥s'r$ar?$orxtﬁ elaﬁf?)earin — 2 Lhe = 10000 x 1 % ]
p g Tao nai & |
" - e %
TERBILY Tar Nm HRERDHBTEHE LY 5
Rating torque Nominal output torque in the specification table g 7
EHe AN ESRL : - 2
Rating input rotation speed Ay 2000 r/min 5 |
FLEXWAVE WP>U—-X 12



13

i

High torque type B2 [gr12517B2]

FEaetE (EH=F) Life estimation(Main bearing)

N EEHRAR(VOAO—J81%) Main bearing specification(Cross roller bearing)

JODEYFAE |77ty bR | EABEREE | EAREREE | FFAE—X Vb | £—XV MElE
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load |  Allowable Moment
) . | of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x10*Nm/rad
85 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPU-[J-J-CR | 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
85 0.0500 0.0162 5800 8600 74 8.5
42 0.0600 0.0184 10400 16300 124 15.4
WPS-[J-[J-SR| 50 0.0700 0.0195 14600 22000 187 25.2
63 0.0850 0.0241 21800 35800 258 39.2
80 0.111 0.0299 38200 65400 580 100
85 0.0500 0.0217 5800 8600 74 8.5
WPU-0J-CJ-SRH 42 0.0600 0.0239 10400 16300 124 15.4
o 50 0.0700 0.0255 14600 22000 187 25.2
WPU-[]-[J-SRJ
63 0.0850 0.0296 21800 35800 258 39.2
80 0.111 0.0364 38200 65400 580 100
FEZF G |
Life span for the main bearing Fr, |
Fr, !
B/ Y —Y SUTNHE | L
Operation cycle example Radial load ! Fr, ‘EF?EJ
Fa,
Fa,
TE¥UvILEE Fa,
Axial load Fa, E%FEﬁ
! Time
ny 2 N3 i
i Bl 2  "\Un
Output rotation : FEfE
speed ol [t 4y J Time
W S ER AT
External load L
Lr L L L
I L = S L — £ ]
Fr I 1
@ ] w £ 3 r £
B a o L a
3 LFa g J J
— O
] ~ - S




=k
917B2

High torque
type B2

FEaietE (EHF) Life estimation(Main bearing)

e
SR 3
SRR
ORKEBRE—XVIOHEH g =
Calculation formula for the largest working moment BEESE
RN
e S @ /ﬁ
?kﬁﬁlf’&—%/ > Mm | Nm  Mm=Frm - (Lr+L)+Fam - La g =
eak working moment 3
2
o)
BKRZ VT IRE Frm N Frm = Fr;, Fr, --- Fr, OAE =
Peak radial load Frm = Largest among Fry, Fry, == Fr, — =
ng
D
BRRT F 4 ILE Fam N Fam=Fa,, Fa, - Fa, DEKIE gii,
Peak axial load Fam = Largest among Fa, Fa,, - Fa, gE
X
BRARE—XV M HRE—AVIITTHIILETHEIZEL, e

Please make sure the peak working moment is below the maximum allowable moment.

QF GV T IVEE - FHTFIvILEE - FHHARERY  FHRFTE— XV MOET

Calculation formula for the Average radial load, Axial load, Average output rotation speed,

(Buueaq urepy)
uonewnss ayf
PSRN | (M) RS | (R SRRED A

Average working moment 35
» 3
85
F55 VT IHE Fra N Fra %] M t,-|Fr,|10/3+r72- t2-|Fr2|m/3+---+ Npe l‘n-|Frn|m/3 o K
Average radial load Nt +n,e bk etn ot ; g
. . 10 10 10 E @ |
$i’ﬂ)1*{~{lvéb1qi Faa N Fa %] M ] Fa | /40,0 to|Fay /3+...+nn.tn.|/:an| % : e
NELIYE Mooty My L e 00, - A
3
S5 A ElEREL nao | r/min  nao= Nty 0, teeen, -ty g
Average output rotation speed t+ b+ e+t 32 Hy [
S5
33 15
Aii%ﬁ:ﬁéﬁ&gm Ma Nm  Ma=Fra-(r+L)+Faa-La C;Dé E
5 fE |
QOFER - BEM> Y 7L HEDNET E L
Calculation formula for the Loading factor, Equivalent radial load g v
= f;\ij’ 5 S 15088 Xo =10, Y0=045 EREA
. ra a/Dm g
T R Xc, Yo = S i
Loading factor o e
Faa o s =
> 1.50%E. Xc=0.67, Yc=0.67 =
Fra + 2Ma / Dm - —
585 33
222 &
cle =
BEMS 7 HE - xe- : RN
Equilvalént radial load Pc N Pc = Xc - (Fra + 2Ma/Dm) + Yc - Faa 325 &
QO
Q

@FmFOFmFRHE O H e
Life span for the main bearing §§ 4
) I °f
F B S A A 10 C 3 s
Life span fo%the ?T?ain t?earing Lhe h Lhe= 60-nao * fwe Po s |

Q 4
1.0 HEEEDZVES  noshock 8 17%
Im%lfﬁi%or fw - 1.2 ZLOEEZHSHBE  with some shock % $],

15 EEEEAM#SHE  with shock and vibration g

FLEXWAVE WP>U—-X 14



15

High torque type B2 [gr/n75+7B2]

ATENDEFRTE Maximum load at input shaft

W EZ AR (A —T VB, 2=y 94 7) Bearing specification (Open type, Unit)

X7YvT A X7YvIB
Bearing A Bearing B
y—= YA 2| EAREEREE EABERTE EARBERTE EARFFERTE a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co © Co
N N N N mm | mm
35 4000 2470 4000 2470 16.5 | 26.5
42 4300 2950 4300 2950 175 | 29.5
WPU-O-O-SRH| 50 4500 3450 4500 3450 16 26
63 4900 4350 4900 4350 17 29
80 14100 10900 5350 5250 20 | 355
85 2240 910 1080 430 245 | 21
42 2700 1270 1610 710 275 | 23
WPU--J-SRJ| 50 4350 2260 2240 910 323|252
63 5600 2830 2700 1270 37.3 | 29.2
80 9400 5000 4350 2260 39.4 | 38.1
NF7YVTA NF7YVTA
Bearing A — ] . Bearing A — ] . .
° N7V B ° SOPZi:
\P Eifﬁj Bearing B \i i Bearing B
& B 1
a b a b
W ¥ ARHE (T AAEES: 2000r/min, F4E : 10000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h)
WPU-1-[]-SRH WPU-[J-[1-SRJ
800 35 500 35
\ —A42 —1)
450
700 \ e 50 \ s 50
400
— 600 —3 _ \ —63
= \ ——80 Z 350 \ 80
L \ L \
j@ 400 WE 250 \
*'SE‘U 300 N\ \ #'f‘b 200 _\ﬁ
R § ——— \ \ \ l: (:8 150 \ \
IN IN
100
N\ N >0 NN
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
THFUHILETE Fa [N] TV ILEE Fa [N]
Axial load Axial load




VBRI Jubricant information

ERIV—A
Grease

237w ZSFB No.1 (F8EE8FIkXE%t) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.)
{FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature)

5Y—2 %%

Grease application

PUF @Y, BoEEg & ERIC T —2Z2BH L TIEEW, Please apply grease according to the table below.

W J)—RBME Grease application

-BEICIE BEEORMZS (BARIDEAES, FAS. THS) CKVEHTEZEEREL TS,
(T)—REHABHDIZY MAT(Z.CHERAZT)DITUY-RENTEINTVWET,)

“ABIASSY ~T —ZABECEEDE50% DY ) —REFHELTLEE L,

= ZREHC LU T U— 2N AR T BH AL Bt E TV AhEEEL, [ql
-The quantity of grease applied to C should BRI Applied part

be adjusted depending on the mounting HA4Z c c c

direction. i

C of the unit type product is already s A B (&) | (EAE) | (FAZ) D

- . . Horizontal | Vertical up | Vertical down

filled with the same quantity of grease as

horizontal mounting. 35 0.3 0.3 6 8 9 0.3
-50% of the space between input assy 42 0.5 0.5 10 12 14 0.5
gpsag:smg inner wall should be filled with 50 08 08 16 18 29 08
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0
W JY)—2BRHEER Grease application location

| WPC-[-[J-CR | | WPU-1-[J-CR | | WPS-0-[J-SR |

(A %) C
Horizontal Feaped
— ] — —
<} _ o <}
"7'*7\ )0,
22 oz ERADS0%ETTE
ZERD50% % FTIE
Fill 50% of the gap in volume

(FR1%) i

Vertical i

down E | =—rh

. i ]-'—
A1 ASSY
input section assembly
AF ASSY
A ASSY A
input section assembly

(L)

Vertical

up

ZERID50%% FTIE

TR N\ ZEBD50% % FiE

FLEXWAVE WP>1—X

=117

917B2
High torque
type B2
g2 (il
£ BOE
SRR
iz I
ag T
. ~
o ~ |
s
o S
2 %
=}
(2]
o
=5
(0]
/‘\Cii
e f
Ap
] =t
a2 &l
g8 =
i B
=5 F
OO A
S o A
g5 &
53 &
= —
a8 =
#h
2
=3
g5
= =
3 Ef
x 7
o 1
3 =
g B
ER ]
=
g
3
51
z
=
3z H
o=
£8 fF
D2 uE
33 15
g> E
=
g
3
= &
S
2
5 7
S
C
[0}
A

2JNj10NJ1S Uo1oes ]ﬂdu\
2=
AFERES

suononJsul
Alquesse

i K R

pue uone|eIsu|

ainpaooid

uone|[eIsul 010N
pzi




17

i

High torque type B2 [gr12517B2]

EN{~T¥5 B Attachment fixture requirement

B BT E Attachment fixture requirement

| WPC-O--CR |

[L] o [A L[ e o
L] 2 [A
; =2
r
Casing m Input
T—A 3 section
3 Ah8
@ 3 (S
° 5 K
Output ° 88 g -+ -
w2
L[ b A w V// g v y
Y %,
BfHEE [mm]
YA X
s 35 42 50 63 80
a 0.015 | 0.015 | 0.018 | 0.018 | 0.023
b 0.010 | 0.012 | 0.014 | 0.016 | 0.020
c 0.013 | 0.013 | 0.015 | 0.018 | 0.020
d 0.015 | 0.015 | 0.018 | 0.018 | 0.023
e 0.015 | 0.015 | 0.018 | 0.018 | 0.023
f 0.012 | 0.012 | 0.014 | 0.016 | 0.016
g 0.016 | 0.020 | 0.024 | 0.024 | 0.024
| WPU-O-[J-CR | | WPS-J-J-SR |
(O] b [
L] 2 A s
Casing
Z e, L2 A
. 3 ADt
|2 £3 e
._.j ﬁ?)% xe ﬁ
= L[ o [A L] ¢ A
/
[ [’
) ]
7 |
BfHEE [mm]  EfHEE [mm]
YA X Y4 X
ik 35 42 50 63 80 o 35 42 50 63 80
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.025 | 0.025 | 0.025 | 0.030 | 0.030
b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025
c 0.016 | 0.020 | 0.024 | 0.024 | 0.024 c 0.020 | 0.020 | 0.020 | 0.025 | 0.025
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024




(=162

917B2
High torque
type B2
— i
{=ZENILY Transmitting Torque P
A
> @ % =
IV MERAT ~ =
Bolting o <
> . g \‘f
AL R OFE FLOE FEDBUTT, : %
IV NAREORE T ML ICURZERBER ML ARGV ETOTITEELILEEL, 2
Please refer to the table below for the bolt tightening torque. s
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN) ~C =
and tightening torque. §§ g_\nr
°S H
82
NIV BILS ——
Tightening torque for bolts %inf ?ﬁ
e " g5 &f
RILEHA X |Boltsize M3 [ M4 | M5 [ M6 | M8 [Mi0 HEZEAILL : BBERS 12.9 BlE 23 &
R R Lo [Nm] | Tightening torque | 1.9 | 43 | 87 | 15 | 36 | 71 Recommended bolt : es 3
Strength rating above 12.9 2
35 A
cx B
23
—. \ . 23 2
IEEMLY (n—2B 1=91547) : &
o AT
Bolt specifications and Transmitting torque (Closed type, Unit) =
. s B
HAH 75V VBT Output flange attachment - j%
H4 X Size 35 42 50 63 80 g
RIL A X Bolt size M4 M5 M6 M8 M10 3
NIL b A Bolt count 6 6 8 8 8 5
Eft PCD [mm] |Bolt PCD 23 27 32 42 55 3z W
#4+ ~JLo [Nm] |Tightening torque 4.3 8.7 15 36 71 §§ 1,‘1
{=2 bJLY [Nm] |Transmitting torque 56 106 238 566 1177 éi gﬁ
AV FILFVEST (CR) Internal gear attachment <
P4 X Size 85 42 50 63 80 5 B
AR A X |Boltsize M4 M4 M5 M5 M6 c ®
L N AB Bolt count 8 8 8 10 12 )
Bf PCD_[mm][Bolt PCD 65 71 82 96 125 g7
A b JLS [Nm] |Tightening torque 4.3 4.3 8.7 8.7 15 &
{=ZE FJLS  [Nm] |Transmitting torque 210 230 430 629 1392 =] ;j\
A2 ZF IR EA § ;%%[ﬂ
Internal gear attachment N—— z &
n bgs #
3°> 1
. — 3
$H 235> Ut
Output flange oz £ |
attachment -
+1 — 25
sz H
5 i
s A
& |
S 5
s i
-
3 4
g
FLEXWAVE WP>U-X 18



High torque type B2 [gr/n75+7B2]

{=ZENJLY Transmitting Torque

EEENILY (UO—XB avKRY R AT)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

HA4 X Size 85 42 50 63 80
AL HAX Bolt size M4 M5 M5 M6 M8
RIL b AEK Bolt count 6 6 8 8 8

Bt PCD [mm] |Bolt PCD 17 19 24 30 40
#Et b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{=Z FJLY  [Nm] [Transmitting torque 41 75 126 223 539

A VA FILEVYESA (CR) Internal Gear Attachment

T4 X Size 5 42 50 63 80
RV A X Bolt size M3 M3 M3 M4 M5
RIL b A Bolt count 8 16 16 16 16
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
54 bJLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z IS [Nm] |Transmitting torque 82 200 230 485 1048

42" F )LV EfT

Internal gear attachment

r— -

_J

JL w7 R EfT

Flex gear attachment

@ EVIRMIEN Reinforcement

Ty AF VRN DEZENVIDEREFH -SHEOHGEX EVOFRAZFBEWNLET,
EvldA 7 oav CEMNAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins

Forcing tap

WP-35, 42 WP-50, 63, 80

19



(=162

917B2
High torque
type B2
L3 L
8 2 Bk
SRR
5z &
—_— o @ % =
TZE ML (A—FvE) g~
Bolt specifications and Transmitting torque (Open type) = —é
g
. 2 ®
7Ly AFVEST Flex Gear Attachment g
4 X Size 35 42 50 63 80 g
AL A4 X Bolt size M3 M3 M3 M4 M5 R
L R EREK Bolt count 8 12 12 12 12 o5 x
Bft PCD  [mm] |Bolt PCD 64 74 84 102 132 22 i
#fT L4 [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 §§ o
{m=Z ;L4 [Nm] [Transmitting torque 119 206 234 495 1037 ER
A VG FILFEVEUT Internal Gear Attachment §§ ?ﬁ
A X Size 35 42 50 63 80 "
RILEHA X |Boltsize M3 M3 M3 M4 M5 35 3
AL b Ak Bolt count 8 16 16 16 16 T
Eifst PCD  [mm] |Bolt PCD 44 54 62 77 100 = A |
#B4t kLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 £2 7
& h LS [Nm] [Transmitting torque 82 200 230 498 1048 25 %
=S &
8 7
o AT
s 28
A g B
: 1> 2 F L XV 2 Al
_%\{ Internal gear attachment g
3
JL v R XYy Eft i %
Flex gear attachment N 3% EHy B
st ff
33 £
52 K
7 &
J Ly g A FYEf T A2 2 FI)LF v Eft a W
Flex gear attachment N\ hﬁq—r/ Internal gear attachment g 4
e I e e e 5
] —
2 A
k= 2
s B
£ S 1B
J s &
L 283 |
st =
cct =
] 2°5 I
e A2 2FILF Y Ef 2
JL vy X FYEA L " Internal gear attachment
Flex gear attachment “\ Y1 o=z = |
] ISRel
o5 |
&= &
sz H
5 i
7
_ B
==l 4+1 °
s M
T
3 4
g

FLEXWAVE WP>1U—-X

N
o



High torque type B2 [gr/n75+7B2]

AFEZRFEE Input section structure

ATEBDIEE

Input section structure

ANEBEEZ AT LSAT (BBFROIEE) L)Y KA THHY ANNREZICLIVRRUET,
FHMIETERICTTHRECIZE L,

There are two types of input section structure, oldham type (self-centering feature) and rigid type.

B ALY L5477 (BEEROES) MUYy RAT
Oldham type (self-centering) Rigid type

Ca =
N o

N LINEFETIE

Cam hole diameter

ALRBTEFEETHIENFIRETT , FROBFENRFTEUTOHEE AT LA T RERFE~
BRANZEOHE (I Y R4 TERVES TROSENDTENBELHEE SRIVEDLELIZEL,
The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be

built in the oldham type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
A
I [ A
\ J
%
751 Ls~ti%& Cam dimension [mm]
T4 X

Size 35 42 50 63 80
AN 6 8 12 14 14

standard bore size

BRARINEV
maximum bore size 17 20 23 28 36

BNES H
minimum thickness 6 7 8 9 11

21



=k
917B2

High torque
type B2

= . : :
SERERIR Installation and assembly instructions 23 g
L
A T3 I8k D3 HF (WPC-0-0-CR) s
Shaft installation instruction o ~f B
—_ . —— ~ — \ N CDD :£
A& - HDB(S BRI DOV TIRME - T v VR EZZ (TR OBEL L TS, 3 =
(FRIEBZEH) :
ALICIEBEEABD SN RS ZAMTEIMERALET . ALDBAEICEIDEVE D BEELTLIEE L, &
Please design the support structure for input shaft and output shaft so that both radial and axial loads are s F B
supported. (Diagram below shows an example) ig o
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. %g' =
SRS
55 &
H 8 ¢ 3
Output shaft Ajjiﬁ f =0 % |
Input shaft 5o #
] o 52 &
N u 2y &
és =
#
oot 3F A
o3
53 2
Cam ﬁg %:F:
o AT
o 28
. s B
B4~ ~F ;% (wpc-0-0-CR) : 8
Attachment flange requirement g
TLYIRFVEETIRMMA TS5V VL TLy I AX VB LD 2
. FROFTEEFO>TEE, 3x m |
For the attachment flange that comes in contact with flex gear, please %@J h;
build the corner radius according to the table below, in order to prevent 33 fg
damage. a 32: 53
[mm] © 5
05 = = |
e 35 42 50 63 80 : %
D 24.5 29 34 42 55 E )]L
R 1.2 1.2 1.4 1.5 2 =Y
t 2 25 25 5 7 t g
2 A
~ A o | — :‘é‘ g%
E5LERR -
Warm-up run g =
BT BFED T CEEY SHIIC A5 LEEERIEL TS, T5s &
MRS RIS R EREROBERAEICRLEFEDL T, is: E
BEENFRETURREOMENLEL, TSR RETDIILNTEET, 355 m|
(725 LB EDZ 4] g
B mE T g

- AN EEREL 1,000r/min LFOANEEASD-><UEPIERE . 3,000r/min FTELESES
B ERAFE 1EFEREE
-HAOEEAE WmAKELTS

After assembly, “Warm-up run” is necessary before run with load / torque. 2
The purpose is that, Flex gear & Internal gear surface to be coated with grease evenly, %

ainpaooid

uone|[eIsul 010N
psi

in order to meet the enough performance with load / torque. 9 &
[Condition example] s 1
‘Load No load = 7
-Input rotation speed Start slowly from 1,000r/min or less, then accelerated and reached to 3,000r/min 2 4
-Test time About 1 hour £
-Output rotation Angle As large as possible o
FLEXWAVE WP>U—-X 22



L

High torque type B2 [gr/n75+7B2]

E—4BUT A E Motor installation procedure

MUHIELREBCE— Y Z2EERYMT 22 LETEEEA. E—FBMYUMIFICLELIRE CERBIIZE W,
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

F—4 B AL (WPU-0O-0-c0)

Motor installation procedure

N B ftFIE 1 Procedure 1
CE—ZICTIVIERY AT -Attach the flange on to the motor
- E—4EHC AHASSYEEY T - Attach the input section assembly with elastic bearings to the motor shaft
caA sy AU AT -Attach the unit
1 = g =
A [
B = ﬁ ——t 1 B
H i - E—%
= AJ1 ASSY &
jE% input section assembly i BN B motor
azv b
ot 75V
flange
N EfT=FIE 2 Procedure 2
- E—4EHZ AHASSYZEEY T - Attach the input section assembly with elastic bearings to the motor shaft
. %_9(:75~/:/~*;&HRUH.U. -Attach the flange on to the motor
caA=y AU AT -Attach the unit
- —— I5VY
Fal flange

5En 1= O

IR ==

il h H\ : T
- 1 | | motor

& 1IN | A ASSY
I\ I Eﬂ, input section assembly

= —
unit

aE
[
1
1
1]

|
|

R0 ER Caution during installation

- BE RO AE O TR, BELRATHLATZVTSIZE L,
* AJJASSY L E—H EEITTRALBGVLELSITERL TS IZE L,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

23



=k
917B2

High torque

BrMEST—4 Characteristics Data

type B2

LF L
8 2 Bk
gao ik
5z =
— . o 22 I
TJF TV T AV FILY (Closed type) o~
Ratcheting torque [Nm] o <
5 e Jk
L o . %
Hatio 35 42 50 63 80 5
50 120 220 340 650 1400 ©
80 140 250 410 700 1600 Gk f
100 130 210 340 690 1300 29 o
120 - 200 310 680 1200 §§ %
160 - - 300 620 1000 38 &
EEJE R JLY (Closed type) = %
: 28 I
Buckling torque [Nm] gg %;
it "t 5 5
Hato 35 42 50 63 80 .
50 ~ 160 260 500 800 1700 3500 E% %jE
- _ . 25 0
ZFTVT AV T MY (Open type) s &
Ratcheting torque [Nm] 2
LR "ot .z
; -1
Hato 35 42 50 63 80 5
50 120 220 340 650 1400 g
80 140 250 410 700 1600 S
100 130 210 340 690 1300 E % By
120 - 200 310 680 1200 55 it
33 78
160 - - 300 620 1000 2 2 B
BEJE FJL2 (Open type) @
Buckling torque [Nm] § E
3
s E
e 5 S
Ratio 5}
85 42 50 63 80 g
50 ~ 160 180 350 590 1100 2400 = A
Fa
_ B L BHOBR B
—~ Relational diagram of intensity and life ; e
40 2 e s 1=
% < \ LB/ b JL% Buckling torque g'
_.\\J g 16.0 — i —
S o 263 i
AN % 14.0 S g % =
ﬁ % 12.0 ggg %
9\ S 10.0 v WIS F4 Life of elastic bearing 3
-L\ % LZFzvyTav T by
Eoo \\
g o I 82
R £ T IERREA b LY =
N o 20 Emergency maximum torque g..
RN 1 FAERA LY Allowable maximum torque 3
_2 g 00 LT A ML Y Average of allowable torque oo
' S 10° 10 107 10° 10° 1010 g- 3
;) © o
& 3 ANEOBEE S (=) g
Total number of rotations of input shaft [times] 2}

MERIST7ERAT—5ZLEICERLE LIz, BBEL LTIEE W,
* The graph is based on actual measurement value. For reference only.

FLEXWAVE WP>1—X 24



High torque type B2 [gr/n75+7B2]

BrMET—4 Characteristics Data

BAEGERE

Transmission Angular Accuracy

1.0
AEEERELIT
EEWCANMERES U BEOBHR LD £ 05 REGRERE
I EEE f  b RO N EER B D o E
. . . o 0.0 1 M“,I\\MHII\I“ml““\‘l‘mlu M‘\ MMEnnEnER I LL
What is Transmission Angular Accuracy? i © I i VN ””'”l”“”m l””l”””ll'l”""
It is the difference between the measured output %‘i%
rotation angle and the theoretical angle, while % -0.5 =N
input shaft is rotated with no load. o
10, 90 180 270 360
H hEhEI AR A B ()
Output shaft rotation angle (deg)
[arc min]
o P4 X
BOE Size
Ratic ™35 T 42 | 50 | 63 | 80
50 1.5 1.5 1.0 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MEROEFSEETT,
Table values are reference values.
EXFUIAOR
Hysteresis Loss
EXFUSROREN Kisital
AN EEEL THABIC MLoED T 5E A
oOEOMNLIEORINABDE EXTIRAAR
) ) Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 1 > KLY
fixed, there is residual twisting angle when Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4 X
75@32]:[3 Size
Retio ™35 T 42 | 50 | 63 | 80
50 2.0 2.0 2.0 2.0 2.0
80 1.0 1.0 1.0 1.0 1.0
100 1.0 1.0 1.0 1.0 1.0
120 - 1.0 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MROEFSEETT,

Table values are reference values.

25



(=162

917B2
High torque
type B2
28 L
8 2 Bk
ge
iz I
= S - >, = &g =
BRI SUVE =
Maximum Backlash [arc sec] o <
e Jk
N - s P4 X 2 ®
BRIV ISyVEET B L Size 3
N N o N Rati Iy
ADBHANY LA TDHEDHNBIDH S Aol 35 42 50 63 80 g
(EOMHEVED/NNYITyU(E 0 Dfzd YDy 50 35 29 25 20 16 =
REATTIENYITyD(E 0 E8UET,) 80 292 18 16 12 10 gg g
?/Vhit is Maximum Backlashk:./‘ et i 100 18 15 13 10 8 3 %
n this context, maximum backlash is the SS u
output backlash for oldham type input shaft. 120 - 12 10 8 6 < %ﬁ
(Backlash is zero for rigid type input, because 160 - - 8 6 5 s = |
gear engagement backlash is zero.) 5 &
38 =
.
Bl (v0—XB 2=y b947) K1 hLOA 0 ~ T, DlFE 25 5
. . Spring coefficient at 0 ~ T, torque §§ E
Stiffness (Closed type, Unit) K2 MLOA T, ~ T, DIFEH 23 2
Spring coefficient at T; ~ T, torque g =B
Rl & 1 K3+ kLo 1 T, ~ olFE 2 &
L Spring coefficient at T, ~ torque - . —
AL ZEELTHARIC LI ZDFTI25E & gf:;
s . 8 7
DIFREHLRINA S - S H
What is Stiffness? K, ; g
In this context, stiffness is the output shaft o E %’
twisting angle and the spring coefficient, while & g X i 52 |
torque load is applied to the output shaft with 5o : : <8
input side fixed. - Ki i i 33 K
= : : s E
= : : =
0 ' : — = |
T oamy : &
Load torque EREIN
a@ )7l’
o _ o P g
BOEL LS L iva Size s
Ratio item unit 35 49 50 63 80 é %
- T, Nm 2 3.9 7 14 29 g ;i
= Tz Nm 6.9 12 25 48 108 g &
K, x 10*Nm/rad 0.41 0.87 1.3 25 55 LI
223 ¥
K x 10°Nm/rad 0.57 11 18 34 7.9 1E 'g
50 Ks x 10‘Nm/rad 0.70 1.4 24 45 10 <3 &
6, arcmin 17 15 1.9 1.9 18 :
6, arcmin 4.6 41 5.3 5.4 5.3 oz £ |
88 |
K, x 10*Nm/rad 0.51 0.90 1.3 2.8 5.8 8= H’g
52
80 K. x 10°Nm/rad 0.67 13 2.1 45 0.6 o
100 g
Ks x 10°Nm/rad 0.78 1.5 2.5 5.2 10.5
120 , 90
160 0, arcmin 1.3 1.5 1.9 1.7 1.7 gg
0, arcmin 3.9 3.6 4.8 4.3 4.5 g
HROMBIETHETT, 8
Average value shown in the table.
FLEXWAVE WP>U—-X 26



High torque type B2 [gr/n75+7B2]

BrMET—4 Characteristics Data

wEE LY

Starting Torque

HEIMLYEIZ A ERFFICLVENRRY FTDT, BEETT,
AHEIHLSEESEZEE(C, ]\jj{ﬁuﬁ@if\’& *1 ggrtggfigenndcneioahly. Torque value may vary depending
GRHBMILY

(&R, AEERE:25°C)
What is Starting Torque?

Input torque needed for input side to start
rotating (no load, ambient temperature : 25°C)

B/oO0—XE 1=y A7 Closed type, Unit
FA—TVEL BBy NI4T Open type, Simple unit

W2 AHEA AN =R —IUART ) v TEDOREETIC L 2HEEEENTVLEEA,
*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[cNm]
L paife
Hatio 35 42 50 63 80
50 21 3.9 77 17 22
80 2.0 3.4 6.6 14 21
100 19 3.0 6.2 12 20
120 - 2.7 5.8 11 17
160 - - 53 10 16
WA—7VB 2=y 947 (FRZEEH) Open type, Unit (hollow shaft) (o]
ik, VA
Hatio 35 42 50 63 80
50 5.6 8.1 10.2 20.1 26.0
80 55 7.6 9.1 17.0 25.0
100 5.4 7.2 8.7 150 240
120 - 6.9 8.3 14.2 21.0
160 - - 7.8 13.2 20.0
W A—T7VE 2=y 947 (AFEH) Open type, Unit (input shaft) (N
L 5
Hatio 35 42 50 63 80
50 5.0 7.3 9.2 18 1 23.4
80 5.0 6.8 8.2 15.3 225
100 4.9 6.5 7.8 13.6 216
120 - 6.2 75 12.7 18.9
160 - - 7.0 1.8 18.0

27



R ERE LY

Output Starting Torque

EEE LI LI

HAEASREE S EDHE S HARIA REERZE

mHD LY

(m&fr AEREE 25°C)
What is Output Starting Torque?

Output torque needed for output side to start
rotating (no load, ambient temperature : 25°C)

B/IO0—XE 1=y 947 Closed type, Unit

A FEAFEICLVENRLY ETNT, BEETT.
*1 For reference only. Torque value may vary depending

on the condition.

FA—TVEL BBy AT Open type, Simple unit
M2 ATMA AN — IR —IUART ) v TEOREEHICL 2HEFTEENTLEEA,

*2 Charts does not show effects due to rotation resistance of bearings and oil seals on the input side.

[Nm]
AL e
Ratio 35 42 50 63 80
50 15 2.2 3.3 8.4 16
80 16 27 35 10 21
100 18 3.2 12 12 24
120 - 3.4 5.6 14 27
160 - - 6.6 20 38
WA—7VE 2=y 547 (FZE8) Open type, Unit (hollow shaft) .
m
L, A
Hatio 35 42 50 63 80
50 3.3 43 5.8 1.6 18.0
80 3.8 5.6 7.0 16.0 28.9
100 46 7.2 9.2 204 204
120 - 8.6 13.3 30.0 538
160 - - 19.4 544 99.3
WA—TVE 2=y 947 (ATIEH) Open type, Unit (input shaft) -
Nm
L A
Ratio 35 42 50 63 80
50 2.9 3.9 5.2 10.4 16.2
80 3.4 5.0 6.3 14.4 26.0
100 42 6.5 8.3 20.1 36.4
120 - 7.8 1.9 27.0 485
160 - - 175 48.9 89.4

FLEXWAVE WP>1U—-X

=k
917B2

High torque
type B2

i
| PEHERE

suoneoljioadsg
/ |epoIA Jeonpay

S

8|ge| suolsuawi(

uoinewnse oy

RSB > | (i) ME2LZD A | (esmrms) MRS

i

(Buueaq urepy) | (Buueaq onse|3)
UolBWINSe aj

1yeys Induy
18 PEO| WNWIXB|\

e

K

~-

oo
= T

Juswalinbal

pue uone|eIsU| | ainonis uoioas INduj | enbio] Bumiwsuel] | 81n)Xi) JUSWYOBNY | UOHBWIOoUI JUBDdLgN|

Ik i >

suononJsul
Alquesse

i T P

ainpaooid

uone|[eIsul 010N
=

eleq

sonsueoRIRY)

28



29

L

High torque type B2 [gr/n75+7B2]

——

BrMEST—4 Characteristics Data

yi= cNm
T | Gl
SVZVIRLY s | TSRS 5
(YO0—XB 2=y 9AF) Steil(o speed 35 42 50 63 80
(A—FVE BBy 9AT) 500r/min | 3.8 | 6.4 10 18 38
2\jo_|oad Running T)orque 50 1000r/m|n 4.9 7.7 12 22 54
Closed type, Unit , 2000r/min | 5.9 8.2 14 24 57
(Open type, Simple unit) 3500r/min | 6.3 | 87 | 15 | 26 | 63
N 500r/min 3.0 5.8 8.4 21 34
BEWIV/ZVITMLILNR oo | 10007min | 37 | 7.4 | 10 | 24 | 41
EAFCREIEIDICHLER 2000r/min | 46 | 80 | 12 25 47
ABBD Y 3500r/min | 5.1 | 88 | 12 26 53
(FfE. AEER:25C) 500r/min | 28 | 55 | 7.3 | 16 | 35
What is No-load Running Torque? 1000r/min 3.6 7.3 9.2 19 44
Input torque needed to keep it 100 2000r/min 4.3 79 12 29 54
running with no load (average X
value, ambient temperature : 25°C) bty 4.6 8.8 13 23 57
500r/min - 5.0 5.9 14 34
120 1000r/min - 5.7 8.1 18 41
2000r/min - 6.5 9.7 20 43
3500r/min - 7.2 11 21 45
500r/min - - 7.2 15 25
160 1000r/min - - 8.9 19 30
2000r/min - - 11 22 37
3500r/min - - 11 22 40

A ERFEICLVENRZY ETNT, BEETY.

M2 ANEA ALY — LR —UART ) v TEORERETIC L 2R EEE

INTULFEEA,

*1 For reference only. Torque value may vary depending on the condition.
*2 Charts does not show effects due to rotation resistance of bearings

and oil seals on the input side.



iy =P

IV_VITNILY
(A=TVE 2=y Ny A T (L))

No-load Running Torque
(Open type, Unit (hollow shaft))

EETSV/ZVIMLOEIE
EAm CRESEIDICLER
ABEID LD

(FHE. BEEE 25°C)

What is No-load Running Torque?

Input torque needed to keep it
running with no load (average
value, ambient temperature : 25°C)

[cNm]
s | G

speed &5 42 50 63 80

500r/min 11.0 16.5 22.4 34.1 40.5

50 1000r/min 11.9 19.2 26.1 39.5 45.0
2000r/min 13.0 21.7 28.9 44.4 49.7
3500r/min 15.0 21.7 33.0 51.5 58.8
500r/min 10.3 13.5 22.9 34.7 51.5

80 1000r/min 11.7 14.9 23.4 38.2 60.0
2000r/min 12.4 17.0 25.6 41.7 63.0
3500r/min 12.7 19.3 29.6 44 .4 67.5
500r/min 10.3 15.8 20.9 37.3 53.5

100 1000r/min 11.6 17.3 24.2 41.5 55.0
2000r/min 13.1 20.2 25.8 49.4 60.0
3500r/min 13.7 21.0 27.5 54.8 68.5
500r/min - 12.8 23.5 34.6 38.0

120 1000r/min - 13.3 26.3 39.0 42.3
2000r/min - 15.2 30.4 47.5 46.7
3500r/min - 18.7 34.7 51.7 51.9
500r/min - - 21.5 28.5 47.5

160 1000r/min - - 23.3 30.0 53.5
2000r/min - - 27.0 32.6 56.4
3500r/min - - 29.1 35.4 | 63.7

A ERFEICLVENRZY ETNT, BEETY.

*1 For reference only. Torque value may vary depending on the condition.

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

SuooNJIsul

suoneoljioadsg
/ |epoIA Jeonpay

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

1yeys Induy
18 PEO| WNWIXB|\

Juswalinbal

Alquesse
pue uone|eIsu| | ainjonis uonoss indu| | enbio] Buwsuel] | 84niXl) JUsUIYORY | UonewIoul JuedLgn|

ainpaooid

uone|[eIsul 010N
=

eleq

sansuaoeIRy)

i
| PEHERE

S

uonewnse 8y | e|gel suolsuswiq

WSS | (ditht) SRPESD A | (rEmR) MEESH

}n

R

o~

[
= T

Ik i >

i T P

30



31

High torque type B2 [gr/n75+7B2]

BrMET—4 Characteristics Data

iy =P

IV_VITNILY
(A—=TVE 2=y 94T (ASEH))

No-load Running Torque
(Open type, Unit (input shaft))

EETSV/ZVIMLOEIE
EAm CRESEIDICLER
ABEID LD

(FHE. BEEE 25°C)

What is No-load Running Torque?

Input torque needed to keep it
running with no load (average
value, ambient temperature : 25°C)

[cNm]
s | G

speed 35 42 50 63 80

500r/min 4.4 8.1 12.2 17.7 26.3

50 1000r/min 5.3 8.8 13.8 19.4 | 28.0
2000r/min 6.2 9.2 15,2 | 23.8 | 30.0
3500r/min 6.5 9.8 17.0 | 26,8 | 30.5
500r/min 4.8 7.6 13.6 23.1 30.4

80 1000r/min 5.6 8.3 15.1 23.1 32.0
2000r/min 6.0 9.2 16.2 25.4 36.0
3500r/min 5.7 9.6 17.1 25.7 39.0
500r/min 5.1 8.8 13.4 22.2 30.0

100 1000r/min 5.7 9.8 14.3 23.1 31.7
2000r/min 5.6 10.5 16.3 24.7 36.5
3500r/min 5.7 11.2 16.4 29.6 38.0
500r/min - 7.4 11.7 15.7 31.7

120 1000r/min - 8.6 13.9 16.7 35.0
2000r/min - 10.5 15.9 17.6 38.5
3500r/min - 11.0 18.1 19.3 40.0
500r/min - - 9.8 141 20.0

160 1000r/min - - 11.9 15.8 22.7
2000r/min - - 13.4 16.9 | 26.0
3500r/min - - 15.1 18.6 27.5

A ERFEICLVENRZY ETNT, BEETY.

*1 For reference only. Torque value may vary depending on the condition.



I (VO—RB A=y 947) (F—F VB BHIZY b IAT)
Efficiency (Closed type, Unit) (Open type, Simple unit)

a7 (%] - BRErLy

BABERE : 25°C

1 TS TIIERNT—IDFHETT,

M2 AFEIA ALY —IILPR—=ILR T v T E D EER
EHICLZFEIEIENTOEETA,

AAREM LY

WPU-35-50
100
e 500 r/min
90 [ c— 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
(@]
5 70 //—
£ /’
L 60 /////-—
= 50
H 40 ////
EN
30
20
10
0 20 40 60 80 100
&7 (%] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
[S]
3 70 —
O L
L 60
= 50
40
E
30
20
10
0 20 40 60 80 100

B (%] Percentile Load

-Percentile Load (%) is equal to load torque divided by

allowable average torque.

-Ambient temperature : 25°C

*1 These diagrams represent the average value of the

actual measurement.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-35-80
100
500 r/min
90 | e== 1000 r/min
s 2000 r/min
- 80 | e 3500 r/min
e e
@ 70 1
Q
L 60
= 50
% 1 //
R
30
20
10
0 20 40 60 80 100

&% [%)] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

suononsul

suoleoly1oedg
/ 19PO J8onpay

(Buueaq urepy) | (Buueaq onse|3)

Juswalinbal yeys indul
1B PEO| WNWIXEN uopewnss aj

pue uolie|[e1sul | aInjonis Uoias Indu | enbio) BuiiwsuRI] | 8inixi) JUsWYOeNY | UoieuLIoul JuBDLgN

Alquiesse

ainpaooid

uoje|[eIsul 010/
]

eleq

sansuaoeIRy)

SF
| SHEE b

S

o|gR| SuolsuswiI(

UOIBWINSS )17

(M) SRR B | (dEme) L b ol

PEOEY >

R

ot
TR HR

b

N ST

Ik i >

S Bk R

32



33

L

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

FHER (YO—ZB, A=y b A7) (A—TVEL BHIZ Y 94 T)
Efficiency (Closed type, Unit) (Open type, Simple unit)

B (%] C BEMLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EBHICLDHEFEINTVIEEA, resistance of bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 [ cmmmm 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min . 80 [ === 3500 r/min
2 2
@ 70 % o 70
L kS)
= 50 = 50
H 40 /// # 40
= 7 = 7/
30 4 30 4
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 1/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min -, 80 [ === 3500 r/min
2 2
o 70 @ 70
RS o
L 60 o 60
= 50 = 50
B 40 v B 40
& 7/ & 7/
30 / 30 /
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B (%] Percentile Load &% [%)] Percentile Load



FHER (YO—ZB, A=y b A7) (A—TVEL BHIZ Y 94 T)
Efficiency (Closed type, Unit) (Open type, Simple unit)

a7 (%] - BRErLy
BAEEE : 25°C

AAREM LY

1 TSTERBT—IDFHIETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHBEIEINTOLEEA

WPU-50-50
100
@ 500 r/min
90 || cmmm 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2 /
@ 70
2 =
5 60 /
T o /
40 /
S //
30 4
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-100
100
@ 500 r/min
90 e 1000 /min
e 2000 r/min
. 80 [ === 3500 r/min
2 _
o 70
P
= 50 /
¥ 40 /
R I/
30 +
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
2
o 70
L
o 60
)
ey 4
a4
30 4
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent

actual measurement.
*2 Charts does not show
resistance of bearings and

to load torque divided by

the average value of the

effects due to rotation
oil seals on the input side.

100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
O
Sy
W 40 /
30 #
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-50-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
-, 80 [ e 3500 r/min
2
© 70
Qo
o 60
= 50
# 40
R ,/
30 4
20
10
0 20 40 60 80 100
&7 [%] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

SF
| SHEE b

suoleoly1oedg
/ 19PO J8onpay

S

o|gR| SuolsuswiI(

UOIBWINSS )17

(M) SRR B | (dEme) L b ol

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

SZ A
28 7
o2 B
53 P
.—ug ’E‘_f
P
3
S 7R
2 Fl
=}
5]
3
5
o
=}
3z H
o=
28 o
® 2 uE
33 78
$> E
i’?
g
3
S
: &
g
5 7
3
C
[0}
3 A
s A
g B
: B
c =
(=3
<
()
csSs =
258 $
9< o
2 > IH
[
=)
o

ainpaooid

uoje|[eIsul 010/
]

eleq

sansuaoeIRy)

34



35

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

FHER (YO—ZB, A=y b A7) (A—TVEL BHIZ Y 94 T)
Efficiency (Closed type, Unit) (Open type, Simple unit)

B (%] C BEMLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. - NN *1 These diagrams represent the average value of the
% |5 — 25 (E T o
1 USTEEMT—YDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDERR *2 Charts does not show effects due to rotation

EBHICLDHEFEINTVIEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
e 500 r/min @ 500 r/min
90 || cmm 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min

80 [ e 3500 r/min : 80 [ e 3500 r/min
60

w_ Ny

40 AL 40
30 30

B (%] Efficiency
= [%] Efficiency

20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&% [%] Percentile Load &7 [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
e 500 r/min e 500 r/min
90 | == 1000 r/min 90 7| == 1000 r/min
e 2000 r/min e 2000 r/min
- 80 [ === 3500 r/min . 80 [ == 3500 r/min
2 2
o 70 % & 70
o O
o 7 o
£ 50 £ 50
H 40 i 40
® R
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load &7 [%] Percentile Load
100
500 r/min
90 | == 1000 r/min
e 2000 r/min
~ 80 [ e 3500 r/min
2 |
@ 70
o
o 60
= 50
# 40
®
30
20
10

0 20 40 60 80 100
& [%] Percentile Load



FHER (YO—ZB, A=y b A7) (A—TVEL BHIZ Y 94 T)
Efficiency (Closed type, Unit) (Open type, Simple unit)

B (%]
BABERE : 25°C

C BfRbLY

1 TSTERBT—IDFHIETT,

M2 AFEIA ALY —IILPR =R T v EpEER

AAREM LY

EHICLZREIEENTOEE A,
WPU-80-50
100
e 500 r/min
90 | cmmm 1000 r/min
e 2000 r/min
_. 80 [ === 3500 r/min
o
3 70
O
o 60
= 50
# 40
EXN
30
20
10 0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-100
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
3 70
Qo
o 60
¥ 50
# 40
R
30
20
0 0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-160
100
@ 500 r/min
90 | === 1000 r/min
e 2000 r/min
> 80 || e 3500 r/min
& 70
o 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
- 80 [ e==== 3500 r/min
2
O
o 60
S 50
# 40
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-80-120
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
2
5 %
Q
o 60
=X 50
M
R 40
30
20
10
0 20 40 60 80 100

&7 [%] Percentile Load

FLEXWAVE WP>1—X

suononsul

(=181

917B2
High torque
type B2
22 i
S & BRE
g HE
2=
S0 =
w% ,:Lt
. ~
o |
s 3
o %
2 X
=)
w
Iy
=3
(0]
~ T [
o5 2
oo A0
= &
>3 =
ol ]
i
2°
«
— =
’\E [
=] =
g% =t
23 ®
és
=
52 A |
28 7
» 3 Eﬁ
585 D
.—ug ’El_éf
P
- 4
El
=)
3
3
o
=}
3z H
o=
28
® 2 uE
33 7B
$> E
i’?
g
3
S
: E
g
5 7
S
C
[0}
3 A
.2
: B
: B
c =
(=3
=
()
22 iE
es B
T =H
<3 el
[
=)
o
- |
2T
o
=
o5 ¥
sg MW
5 i
s A

eleq

sansuaoeIRy)

36



37

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

L

NI (A—FVE 2=y by 7 (hZ2h))
Efficiency (Open type, Unit (hollow shaft))

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

BE(%] C BENLY | ERERNLY
BERE : 25°C

1T STERRBT—IDFHETT,

WPU-35-50 WPU-35-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 [ cmmmm 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min . 80 [ === 3500 r/min
2 2
o 70 o 70
o 0O
60 L 60
T 50 _— T 50 _—
B 40 //// H 40 /
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&1 [%] Percentile Load &% [%)] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
e
o 70
k3]
L 60
= 50
B 40
E
30
20
10
0 20 40 60 80 100

B (%] Percentile Load



NI (A—FVE 2=y by 7 (hZ2h))
Efficiency (Open type, Unit (hollow shaft))

&1 [%]
BAEEE : 25°C
#1573 ERF—yDFEHETT,

BRIV | BFRERNLY

WPU-42-50
100
e 500 r/min
90 [ c— 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
U 60 /
= 50
H 40
ES
30
20
10
0 20 40 60 80 100
&7 (%] Percentile Load
WPU-42-100
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
O
L 60
= 50
40
E
30
20
10
0 20 40 60 80 100

B (%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.

-Ambient temperature : 25°C

*1 These diagrams represent the average value of the
actual measurement.

WPU-42-80
100
e 500 r/min
90 | 1000 r/min
e 2000 r/min
- 80 [ e 3500 r/min
2
© 70
9O
L 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100
&% [%)] Percentile Load
WPU-42-120
100
500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
.g 70
. =
X 50 —
30
10
0 20 40 60 80 100

=10

[%] Percentile Load

FLEXWAVE WP>1—X

(=181

917B2
High torque
type B2
22 i
%%’f%%
o @
2= A
5§y =
w% ,:L\t
o |
s 3
o %
2 X
=)
w
Iy
=3
(0]
~ T [
7 Z
n o =
52 B3
>3 =
ol ]
5s B
g &
=
,\E [
3 .
g% =t
23 ®
és
=
52 A |
28 7
w3 h
53 O
s Bt
s =
o AT
- E
I

suononsul

Juswalinbal
8INJX1} JUBWYOBNY | UOHEBWIOU| JUBDLgN|
psi

Alquiesse

ainpaooid

uoje|[eIsul 010/
]

eleq

sansuaoeIRy)

T &
g
5 7
o

c

[0}
5 A
s A
%%‘5
: B
c 1=
[=}

<

(v}
z E
5 B
2 ¥
S 1/
joo)

3
o

38



39

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

L

NI (A—FVE 2=y by 7 (hZ2h))
Efficiency (Open type, Unit (hollow shaft))

a7 (%] - BRErkLy

BERE : 25°C

1 TSTERBT—IDFHIETT,

AAREM LY

=~

80 100

_—

80 100

80 100

100
@ 500 r/min
90 || cmmm 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
Q
o 60 /
= 50
# 40
R
30
20
10
0 20 40 60
&% [%] Percentile Load
WPU-50-100
100
@ 500 r/min
90 e 1000 /min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
Q
1 60 /
= 50
# 40
R
30
20
10
0 20 40 60
&% [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
2
o 70
L
o 60
)
# 40
R
30
20
10
0 20 40 60

&% [%] Percentile Load

actual measurement.

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
5 70 _
O
o 60
S 50
# 40
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-50-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
-, 80 [ e 3500 r/min
2
© 70
Qo
o 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load



NI (A—F VB 2=y N7 (hZ2sh)
Efficiency (Open type, Unit (hollow shaft)

)
)

(=181

& (%]
R RERE

BNV | FBEEKNLY

1 25°C

1 TSTERBT—IDFHIETT,

100
@ 500 r/min
90 [ o 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
L
o 60
= 50
# 40 /
N /
30 /
N4
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-63-100
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
o 60
S 50
# 40
EXN /
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
500 r/min
90 | == 1000 r/min
e 2000 1/min
~ 80 [ e 3500 r/min
2
@ 70
Q
w60 _—
g 50 /A
EN /
30 /
20 /
10
0 20 40 60 80 100

& [%] Percentile Load

-Percentile Load (%) is equal
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent

actual measurement.

to load torque divided by

the average value of the

100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
- 80 [ === 3500 r/min
[}
g 70 //
I 60
=X 50
B 40 /
R
30
20 7
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-63-120
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
,g 70
£ =
£ 50 %
# 40 /
30 /
20 /
10
0 20 40 60 80 100
&7 [%] Percentile Load

FLEXWAVE WP>1—X

917B2

High torque
type B2

%{;’g{i/@t

£ BRE
gao ik

2 I
s =
33 R
- ~
o |
s 3
o %
2 X
=)

w
y
o
(0]

—~ [

hy 2
[ Ap
28 &f
o3 =
ol ]
25
=8 ®
g &

=
zZL &

o © ’uLE
> d H
g% =t
23 ®
és

g
2

S5 A |
E%_ ng
(2]

53 O
o =
o AT
- =
g B
2 Fl
=}

g
3
5
S
3z B |
o=
S6 f
oD
[0 yE
33 78
$> E

i’?

g

3

i

: =
2

5 7
3

C

[0}

3 A
-2
% EII.S
2 B
c =
(=3
<
()

cle =
o3z =
SR

)

o
35 i
85
8- &
sg MW

5 i

s A
o0
'D_)’J'

52

3

)

7

2

7]

40



High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

NI (A—FVE 2=y by 7 (hZ2h))
Efficiency (Open type, Unit (hollow shaft))

BRI (%] BEMNLY | EREKNLY
BABERE : 25°C
¥1 USTEENTF - DFEHETT,

WPU-80-50

100

@ 500 r/min
90 | e 1000 r/min
e 2000 r/min

_. 80 [ === 3500 r/min /
O
5 70 /
o
b 60 //
= 50
H 40 /
EXN
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-100
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
2
2 70
L
o 60
)
# 40
ES
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-160
100
@ 500 r/min
90 | === 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
Q
o 60
= 50
# 40
E /
30
20
10
0 20 40 60 80 100

&% [%] Percentile Load

41

-Percentile Load (%) is equal to load torque divided by

allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
- 80 [ === 3500 r/min
2
@ 70
Qo
0 60 /
S 50
B 40 /
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-80-120
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
2
2 70 7
0 60 ]
=X 50
H
R 40 /
30 /
20
10
0 20 40 60 80 100

&7 [%] Percentile Load



I (A—F VB A=y b T (ADEH))
Efficiency (Open type, Unit (input shaft))

B (%] BEMNLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

*1 These diagrams represent the average value of the
actual measurement.

1T STERRBT—IDFHETT,

WPU-35-50 WPU-35-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 [ cmmmm 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min . 80 [ === 3500 r/min
(@] [e]
5 70 — 5 70
© 9O
60 L 60
= 50 = 50
H 40 # 40
ES ®
30 30 /
20 4 20 ' 4
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
2
.g 70
= 50
B 40
R
30
20
10
0 20 40 60 80 100

B (%] Percentile Load

FLEXWAVE WP>1—X

(=181

917B2
High torque
type B2
22 i
%%ﬁ%
o @
2= A
5§y =
w& ,:L\t
o |
s 3
o %
2 X
=)
w
y
o
(0]
~ T [
7 Z
n o =
52 B3
>3 =
ol ]
5s B
g &
=
,\E [
=} -
g?ﬁ =t
23 ®
és
=
S5 A |
28 7
%3 Ha
53 O
s Bt
s =
o AT
- ¥
B
1

suononsul

Juswalinbal
8INJX1} JUBWYOBNY | UOHEBWIOU| JUBDLgN|
psi

Alquiesse

ainpaooid

uoje|[eIsul 010/
]

eleq

sansuaoeIRy)

-
: %
2
5 7
a

C

[0
2 A
s A
%%‘5
: B
c =
=2

=

()
2 IE
5 B
z =
S 1/
[

=)
Q

42



43

L

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

I (A—F VB A=y b T (ADEH))
Efficiency (Open type, Unit (input shaft))

B (%] C BEMLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

*1 These diagrams represent the average value of the

1T STERRBT—IDFHETT, actual measurement.

WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 [ cmmmm 1000 r/min
s 2000 r/min s 2000 r/min
_ 80 [ === 3500 r/min .. 80 s 3500 1/min
2 2
o 70 o 70
© 9O
i 60 o 60
= 50 = 50
H 40 # 40
ES ®
30 ’ 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 /min 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min -, 80 [ === 3500 r/min
= = /
© 70 B 70 —
£ 2 e
L 60 / o 60 ////
= 50 = 50
¥ 40 / # 40
R R
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load &% [%)] Percentile Load



I (A—F VB A=y b T (ADEH))
Efficiency (Open type, Unit (input shaft))

a7 (%] - BRErLy
BAEEE : 25°C
¥1 USTEENTF - DFEHETT,

AAREM LY

WPU-50-50

100

500 r/min
90 | e 1000 r/min
e 2000 r/min

80 [ e 3500 r/min

>

2

@ 70

¢]

G 60 /
S 50

# a0 /

R

30 /

20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-100
100
@ 500 r/min
90 e 1000 /min
e 2000 r/min
. 80 [ === 3500 r/min
6]
g 70 %
Qo
G 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
[6)
3 70 //
Qo
G 60 ////A
)
¥ 40 ////
® /
30
20
10
0 20 40 60 80 100

&% [%] Percentile Load

actual measurement.

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70
o
o 60
X 50
# 40
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-50-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
-, 80 [ e 3500 r/min
(o]
3 70 e
o
= 50
¥ 40 Y 7z
R /
30 /
20 /
10
0 20 40 60 80 100

=5

[%] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

SF
| SHEE b

suoleoly1oedg
/ 19PO J8onpay

S

o|gR| SuolsuswiI(

UOIBWINSS )17

(M) SRR B | (dEme) L b ol

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

52 A
28 7
o2 %
53 P
.—ug ’E‘_f
&
- &
S 7R
2 Fl
=}
5]
3
5
o
=}
3z H
oz
2By
D2 uE
33 78
$> E
i’?
g
3
S
: &
2
5 7
3
C
[0}
3 A
s A
g B
: B
c =
(=3
=
()
csSs =
258 $
Q<o
2 - IH
[
=)
o

ainpaooid

uoje|[eIsul 010/
]

eleq

sansuaoeIRy)

44



45

L

High torque type B2 [gr/n75+7B2]

BMES—4 Characteristics Data

55 (-

TVEL Az AT (ATEH))

Efficiency (Open type, Unit (input shaft))

&%l

BAHEE :

BNV | FBEEKNLY

25°C

1 TSTERBT—IDFHIETT,

100
e 500 r/min
90 [ o 1000 r/min
e 2000 r/min
.. 80 e 3500 r/min
2
@ 70
L
o 60
= 50
# 40
EN
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-63-100
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
o 60
g 50 %
# 40
® //
30 7
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
— 500 r/min
90 | == 1000 r/min
e 2000 1/min
~ 80 [ e 3500 r/min
2
@ 70
Q
o 60
= 50
B 40
EN
30
20
10
0 20 40 60 80 100

& [%] Percentile Load

actual measurement.

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

40 60 80 100

[%] Percentile Load

100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 e 3500 r/min
2
@ 70
Qo
L 60
X 50
¥ 40
R
30
20
10
0 20
Yo
WPU-63-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
o
O 60
£ 50
# 40
R
30 7
20
10

20
&y

40 60 80 100

[%] Percentile Load



IR (F—TF VB 2=y 94T (ADHE))

Efficiency (Open type, Unit (input shaft))

&1 [%]
BAEEE : 25°C
1 U5 73ERF— Y DOFHETT,

BNV | FBEEKNLY

100
e 500 r/min
90 || cmmm 1000 r/min
e 2000 r/min
_. 80 e 3500 1/min
2
@ 70
9
o 60
= 50
# 40 /
EXN
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
2
2 70
2 y /4
o 60
)
# 40
] 7
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
@ 500 r/min
90 | === 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
Q
o 60
= 50
# 40
R
30 ,
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by

allowable average torque.

-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

actual measurement.

&7 [%] Percentile Load

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 o e 3500 r/min
5 70
Qo
o 60
g 50
B
= 40 7
30
20
10 20 40
WPU-80-120
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
3 70
Q
i 60
S
iy
= 40
30
20
10

20 40

&7 [%] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

S
J A

suoleoly1oedg
/ 19PO J8onpay

S

o|gR| SuolsuswiI(

UOIBWINSS )17

(M) SRR B | (dEme) L b ol

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

SZ A
28 7
%3 Ha
55 @
.—ug ’E‘_f
&
3
S /B
2 Al
=}
g
3
5
o
=}
3z H
oz
S6 f
® 2 uE
33 78
$> E
i’?
g
3
-
: &
g
5 7
3
C
[0}
3 A
e B
s IR
o
B B
c =
(=3
<
()
csSs =
258 $
9< o
2 > IH
[
=)
o

o
s T
8- &
s B
5
s
o
S
Q

sansuaoeIRy)

46



47

Standard type A
R BERN X, Reducer Model Nomenclature

WP

C

35

50

CN

X %

V)4 947 Y4 X BIE EE a— R~ i
Series name type Size Ratio Code Specifications
WPJ—X C:IvRxviho47 35 50 CN ANEESE
Component type
WP Series S : 51547 42 80 CF Input shaft
Simple unit type diameter,
U:a=vho47 50 100 SN etc.
2=y AT (AJJEh)
:l-—.“/ N4 7 (FRZet) 63 120 SNH
Unit type
Input shaft unit
Hollow tnit 80 160 SNJ
. HO—FEEMIETERECHERESE L,
.*j#%i% Ava|lab|l|ty For lhefj(];e ;rei\i, p\efs;check
Ratio ma\tr\\x the Dimensions Table.
Sy z22% 50 | 80 | 100 | 120 | 160
GEJ 35
o 42
L
50
63
80
Al ASEN T .
SRR Reducer Specifications
2 3 4 #5 6 7
FFRER HFAmK FEH R K AT RS PN
.| BRE N NP NLY A ElEREL A ElEREL TRPEE
'lj',’f A | Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lif
Size R torque torque torque input speed speed e
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
85 80 9 27 55 3000 8500
100 9 32 63
50 21 44 91
80 26 50 102
42 100 58 63 159 3000 7300
120 28 63 129
50 33 73 127
80 40 86 149
50 100 47 96 172 3000 6500
120 47 96 172
160 47 96 172 7000
50 51 127 242
80 66 142 266
63 100 70 163 295 3000 5600
120 70 163 295
160 70 163 295
50 89 253 447
80 122 316 590
80 100 142 346 673 3000 4800
120 142 346 673
160 142 346 673

¥ 1 RIEZ p.4 DRICANTHELERDTIIZE L,
3¢ 2 ANEEREL 2000r/min OEFICHA T 2R AME

3 3 28 - (FURHCHA T 2EAE
WA BEENMER LRI T 25K(E

5 EEAICHR Y 2 PHANEEHDRAIE

¥ 6 FEHICHFA Y DANEEHORAE

3¢ 7 AN[EER$L 2000r/min, FFATER bV BT OFHFmRH

*3 The maximum torque when starting and stopping.
*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



=%
I1TA

Standard
type A

~FyEZFR Dimensions Table

2F L
331
g8 M
==z #
> l_l ~ o, N o g% I
JO0—X8 OAVRRVNIAT g <
Closed Type, Component o <
3
o K
WPC- -] -CN
5
o
WPC- [J - O -CF :
LE WG &
LF LM 2% gj”\r
LH  |La o3 #
& o
X g~
2.LT N-oLU =
£ L
IS : i =
_j < i} ®\’\?\ %% %%
(@1 , W(Js9) 53 H
Eal ) as =
2ol 2 N [ N 2
5| | <l g @A S <y )T 35 A
S 1 c X
M N 2 #
> : / 25 2
= 9 2 o
%/ h o, $SH (H7) com |
st 5 &
su 2-M3xk 2 Al
. £ BHE—XV b E)
E "j'S’f Al Weight Moment of inertia 3
s i - kg x10"*kgm? - -
=9 35 0.10 0.0383 X
a 42 017 0.0855 g3 s
S22 X
INPUT SHAFT FOR 35842 50 0.26 0.207 X
63 0.43 0.544 s
80 0.91 1.63 = = |
ERINN
[mm] R
. g 7
YAX LA | LB | LC |N*'| LU | LT |LE|LF|LG | LH LM | SG|SH| S| w g
3 A
35 | 44 | 38 | 50 | 8()| 35 | M3 | 285|175 | 6 2 11 | 158 | 6 | 185 | - S H
s B
42 | 54 | 48 | 60 [16(12)) 35 | M3 | 325 | 20 | 65 | 25 | 125|158 | 8 | 207 | - S =
2
50 | 62 | 54 | 70 |16(12)| 35 | M3 | 335 | 215| 75 3 12 | 248 | 12 | 215 | 4 & =
63 | 75 | 67 | 85 |16(12) 45 | M4 | 37 | 24 | 10 3 13 | 278 | 14 | 216 | 5 2= % |
80 | 100 | 90 | 110 [16(12) 55 | M5 | 44 | 28 | 14 3 16 | 278 | 14 | 236 | 5 iz%% 5
2-S 1§
'ij*f T | SU|SA|SB|SD| M | ST|sv | HD|CA|CB|CX|cCYy]|cz S
ize o E
35 - 25 | 17 | 11 | 235| 6 | 45 | M3 | 24 |C05|C03 | 17 1 38 gg é
52 B
42 - 3 19 | 10 | 27 6 | 55 | M3 3 | C05|C03 | 19 1 45 g Er
g A
50 13.8 - 24 16 32 8 55 M3 3 C05|C05| 205 | 15 53 7k
63 | 163 - | 30 | 20 | 40 | 8 | 65 M4 | 3 |CO5|CO5| 23 | 1.5 | 66 g @
80 | 163 | - 40 | 26 | 52 8 88 | M5 | 32 | C05|C05|268| 1.5 | 86 § T
¥ 1-CN & -CF THED R U 9. *1-CN and -CF are different in dimensions. The -CF value is shown in () . ‘2 4
() AIL-CFonfETd, *2 For details in the input section, please check the drawings. g

2 ADEREMBIC DOV TIL, BIR~HERICTRESELLZE W, *3 Inner dimensions of CX, CY, CZ are recommended dimensions. -

¥ 3CX. CY, CZ I3 —RMNEEHEIE~TETT .
FLEXWAVE WP>1—X

N
[e¢]



Standard type A

~FyEZFR Dimensions Table

JO0—XB 2=y h5A47
Closed Type, Unit

. = BiEE—XV b
"j's’f Al Weight Moment of inertia
WPU-[1-[1-CN - kg x10kgm?
WPU- [ -] -CF 35 0.50 0.0377
42 0.68 0.0856
50 0.95 0.207
63 15 0.544
80 3.3 163
LE
LF LM
LH LG LK
cy (g{rm N-LU
(A) =-rng N-LT
0-ring —] <
= =N
I — W(JS9)
— 1—f S
= = xS =
£ g|=fy l S aln| =] g ' 14
23291 [ oY s§s @ib é
— \ N
LT =
™ T
. s o o $SH (H7)
B Y4 X O-ring
Size A B
— 35 | 29.0 x 05 S50
42 | 345 %08 S56
INPUT SHAFT FOR 35842 gg gggg i (1);; 22(7)

80 S71 $105 —
ﬂsé e/_( LA | IB|LC | |N*| T |LW/|LE|LF|LG|LH|LK|LM| DB/ SG
35 | 65 | 56 | 73 | 31 |8(6)| M4 | 45 | 41 | 27 | 7 |35 | 2 | 14 | 38 | 158
42 | 71 | 63 | 79 | 38 |8(6)| M4 | 45 | 45 | 29 | 8 4 o> | 16 | 48 | 158
50 | 82 | 72 | 93 | 45 |8(6)| M5 | 55 | 455| 28 | 10 | 5 3 | 175 | 56 | 248
63 | 96 | 86 | 107 | 58 |10(8)| M5 | 55 | 52 | 36 | 10 | 5 3 | 16 | 67 | 278
80 | 125 | 113 | 138 | 78 | 12 | M6 | 65 | 62 | 45 | 12 | 5 3 | 17 | 90 | 278
YA SH | SL | W | T |SU|SA|SB|SC| M |ST|HD|CX|CY]|cCZ
35 | 6 | 185 - - |25 ] 23 | 11 | 8 6 Maxsl 95 | 16 | 1 | 38
42 | 8 | 207 - - 3 |27 | 10| 7 6 IMs5x8l 95 | 1.3 | 1 | 45
50 | 12 | 215| 4 |138| - | 32 | 14| 10 | 8 |Mex9 9 | 15 | 15 | 53
63 | 14 | 216| 5 |163| - | 42 | 20 | 15 | 8 |vex1w0 12 | 34 | 15 | 66
80 | 14 | 236| 5 |163| - | 55 | 26 | 20 | 8 |woxi2 15 | 52 | 15 | 86

#1-CN & -CF TH#n84 U £,

(

) NIF-CFDfETY,
2 ADEREMAC DL TR, FIBRHERIC THERR S 128 Ly

¥ 3 CY, CZ 37 —AREEHEE~TETT,

49

*1 -CN and -CF are different in dimensions. The -CF value is shown in ( ) .
*2 For details in the input section, please check the drawings.
*3 Inner dimensions of CY, CZ are recommended dimensions.



2

IL4TA
Standard
type A
g 1B
82 B
go &
°~ —_ o @ % n
F—T7VE Iy bIAT £ =
Open type, Simple unit e ¢
. 2 [BEE-XVb g &
"fS’f Al Weight Moment of inertia 2 X
WPS-[1-[]1-SN e kg x10"kgm? A
35 0.39 0.0391 5
42 0.55 0.0870 T %rﬁ
50 0.79 0.209 EL
o3 =
63 1.3 0.549 § = ?i
80 2.7 1.65 e ¢
LF LM o5 2
sC L _LH 83 &=
M-9ST LC és 2
N-LT _ =
W(JS9) “g %ﬁ
v a =
| - . o AT
Z i = @C) O N \2 Z — | - E
HEE ¥4 UK c
— Ny g VB
a 2 Al
& {%]L #SH (HT) %
O AY ‘\Qf 5]
v SZ
su 2-M3xh © st 1 TN S f
AN | X e3 ¥
E fs/wz EQUAL \ T s20eaual X g3 E
e & \ } ] ! ‘ T i
—o | /J x i # g
lh \‘\‘T‘X \‘\’\‘r*‘/‘ i -
E‘ 5 &
N-LT” N-LT" s =
NPUT SHAFT FOR 35842 ARRANGEMENT FOR35  ARRANGEMENT FOR 42 g )|L
[mm] 2 i
VAKX LA | LC | LE | LF [LG | LH | LJ | LM |SG |SH|SL | W [ T |su|sa|sB = A
s 7
85 44 50 | 285|235 6 7 141 5 15.8 6 18.5 - - 2.5 64 48 = %
42 54 60 | 325|265 | 6.5 7.5 16 6 15.8 8 20.7 - - 3 74 60 é &
50 62 70 | 335 29 7.5 85 | 175 | 45 | 248 12 1215 4 13.8 - 84 70 - mﬁ =
zga &
63 77 85 37 34 10 12 | 18.7 3 278 | 14 | 216 5 16.3 - 102 88 é% = %
80 100 | 110 44 42 14 15 | 234 2 278 | 14 | 23.6 5 16.3 - 132 | 114 §q§ 5]
YA sc|sD| M | ST |cAa|cCy|cCz|cv|CwW| N LT N
e= %
85 2.4 70 8 3.5 | C0.3 1 38 1.6 31 8 M3 x5, ¢ 3.5 x6 5%;) E{%
42 3 80 12 3.5 | C0.3 1 45 2 37 16 M3 x6, ¢ 3.5%x6.5 ] /j;
50 3 90 12 35 [C03| 1.5 53 2 44 16 M3x6, ¢ 3.5%x75 Q i
63 3.3 | 110 12 45 | C03| 15 66 2 56 16 M4 x7, ¢ 45 %10 % ?—
a |
80 3.6 142 12 55 |C05| 15 86 2 72 16 M5 x 8, ¢ 55 %x 14 g 4
¥ 1 ADEEMICOWTIE, BRTEARICTHERR I2E L, *1 For details in the input section, please check the drawings. %U’
¥ 2CV. CW, CY. CZI3T —RAEEHE~ETT, *2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.
FLEXWRVE WP=1—X 50




L

Standard type A
~T3yE3ZFR Dimensions Table

F—TVE A=y 94T (FZEEH)
Open type, Unit (hollow shaft)

HAZ| Weight Tﬁlﬁ;t_oﬁne/rtig
WPU- [1-[1-SNH Sl kg x10"kgm?
35 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18

LE
LG LF LH

@LD (h7)

-+
A 'T‘\, ,t’“. i*\‘x
fsngoum \ P ts/20e0uAL ¥
\ 1 ] : ‘ ]
» ‘ /‘ & i #
\“‘r' o \““4&* %%

NLT" NLT"
INPUT SHAFT FOR 35442 ARRANGEMENT FOR35  ARRANGEMENT FOR 42

[mm]

PAX LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR

Size

35 44 36 54 70 525 | 20.5 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 215 | 85 8.5 10 2.5 55 6.5
50 62 50 75 90 51.5 25 5 21.5 7 9 10.5 - - -

63 7 60 90 110 | 55,5 26 6 23.5 6 8.5 10.5 - - -

80 100 85 115 | 142 | 65.5 32 7 26.5 5 9.5 12 - - -

YAX| sa | s |sc | sD| SE|SF| M |ST|su | N LT
3% | 64 | - | 14 | 20 | 74 | 3 | 8 | 35| M3 | 8 |M3x5 ¢35x115
42 | 74 | - | 19 | 25 | 84 | 45 | 12 | 35 | M3 | 16 | M3 x6 ¢35x 12
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 M3x6 16 |M3x6 ¢35x 135
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 M3x6 16 |M4x7 ¢45x 155
80 | 132 | 405 | 36 | 45 | 147 | - | 12 | 55 M3x6 16 |M5x8 ¢55x 205

51



F—TVE A=y NyAT (A1)

Open type, Unit (input shaft)

. = EBHEE—XV B
"j's’f Al Weight Moment of inertia
WPU- []1-[1-SNJ e kg x10*kgm?
5 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74
LE
LG LF LH
L LK LJ
M-gST
T2
/ | N LR
B . SC sV gog La E
/ u \
i N I | |-
(@54 (=
Q)L)P 3 /’ ° E
| 2
(E | :
. b B
Lp
- TT e TR
QTL =1 r,x et I R
[ srmeaual P we0paual ¥
N LAy g
P ‘ ) ‘
= \“T'X \‘\k‘yr‘(‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-'j-STLeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
35 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 72.5 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX sa | sB | sC | SE| SV |Sw | M | ST |SU| N LT
& 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6,¢ 35x%x135
63 102 14 11 115 5 5 12 45 M5x10 16 |[M4 x7,¢ 45 x%x 155
80 132 14 11 147 5 5 12 55 M5x10 16 |[M5x 8, ¢ 55 %205

FLEXWAVE WP>1—X

SuooNJIsul

=%
I1TA

Standard
type A

S
/ SR

suoneoloadg
/ |epoIA Jeonpay

S

uolewnse o) | e|qeL suoisuawiq

(Bunreaq onse|)

D | () SRS

a

XTIl o

OB | () ¥R

(Bureaq urely)
uolewINSe a1

yeys indul
1 PEO| WNWIXE

e

S}

s
I i

uoleuwlojul Jueougn

Juswalinbal

pue uone|[esu| | ainonns uonoes Jndu| | enbiol Bunjwsuel] | ainxi) JusWyoRNY

(o 2 >

Alquasse

i T P

ainpaooid
N
M

uone|[eIsul J0J0
pei

elR(Q SONSLIeIoRIBYD
N

(o)
N



Standard type A [E#5174A]

)

EoTE (SEMEERSE) Life estimation (Elastic bearing)

HEEZ T E

Life span for the elastic bearing

W EEm Y-

Operation cycle example

T, | |
&Er by | T, |
Working torque } T, ! T,
1 i)
| | Time
ny L N3
A EIER 21 &
Output rotation
spegd bt (%] Y ‘ =]
Time

OFHHA MILY - BEREA ML DOEH

Calculation formula for output torque

SEHEN LY

Average output torque Tao

Nm

. t1.|7‘1|3+ Nyt 72|3+...+ N, tn.|7n|3
ot

Tao :3\/ n,

n,-t,+n2°t2"°nn n

=AHSD LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, e 7;7 O)EEij(ﬂE
Tmo = Largest among Ty, Ty, = T,

BAHA MLIDHFRERENUTTHE L& CHEREC 2E

Please make sure the peak output torque is below the maximum output torque in the specification table.

QFHANEERL - ZEEHADEEHROE S
Calculation formula for mput speed
5 ElEREL - Mt +n,tren, -ty
A nao | r/min nao=
Average output rotation speed ti+t,t et t,
= A [EERE nmo | r/min nmo =ny, n, -+ n, DERXE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
AN BIEREL - i - S — i
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
B A EEREL i ; - — — rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R=ratio)

R ANRGEEIHARESANBGEHUAT THD L& THESLEW,

Please make sure the peak input speed value is below the maximum input speed in the specification table.

@?_"._:F H‘J'Fﬁﬁmn-l_%
Calculation formula for life span
B SR Jar \S | nar
Part life span for the elastic bearing Lie 2 Lhe = 7000 x Tao nai
TEM MILY Tar | Nm | EREROFFEER MY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed har r/min | 2000 r/min

53



=%
I1TA

Standard
type A

= A Y . . f . .
FEaietE (EHF) Life estimation(Main bearing) _—
5z &
B EEHTAR(VOXO—J8%) Main bearing specification(Cross roller bearing) e T
o ~ |
JOQEYFAE | #71y bE | EABTEREE | BAREEEE | FRE—XV b | =XV Ml z ;
-2 HAZ Pitch circle diameter Offset Basic dynamic | Basic static load Allowable Moment 2
: : of the bearing rollers load rating rating moment rigidity S
Series Size 2
Dm L C Co Mal Km g
m m N N Nm x10*Nm/rad N
5 0.0350 0.0095 4700 6070 41 4.38 ;ﬁg ﬁ
WPU-CI-01-CF 42 0.0425 0.0095 5290 7550 64 7.75 %% g
- - - o —
50 0.0500 0.0095 5780 9000 91 12.8 gz
WPU-[I-[O0-CN 35 &
63 0.0620 0.0115 9600 15100 156 24.2 e =
80 0.0800 0.0130 15000 25000 313 53.9 gg f
35| 0.0500 0.0162 5800 8600 74 8.5 g8 g?r
o3
42 0.0600 0.0184 10400 16300 124 15.4 §§— =
WPS-[J-[J-SN | 50 0.0700 0.0195 14600 22000 187 25.2 ~cF
63 0.0850 0.0241 21800 35800 258 39.2 3= %
80 0.111 0.0299 38200 65400 580 100 %% %
35 0.0500 0.0217 5800 8600 74 8.5 T i
WPU-C1-C1-SNH 42 0.0600 0.0239 10400 16300 124 15.4 2 g
o 50 0.0700 0.0255 14600 22000 187 25.2 c m |
WPU-[J-[]-SNJ g i
63 0.0850 0.0296 21800 35800 258 39.2 5 %ﬁu
80 0.111 0.0364 38200 65400 580 100 %
3 TLE A 3z B
FEZHFMETE | 8
Life span for the main bearing Fr, | EERE
Fr, i 35 B
W EE Y- SUTLEE | P
Operation cycle example Radial load ! Fr, H#FE'EJ -
o : %
Fa, E y|”
Fa, g v
TEUPIAE Fa, 5
Axial load Fag ] s Al
! Time S F
| | | g‘% %K
| S
ny , 2 N3 ! 5 =
Hi E8E 5  \Un LA
Output rotation - B 223 X
speed ot [ty ty ‘ Time s32 =
525 2
3 - &
W LERa :
External load L =T
Lr L L L 28
ﬁ — i R es ¥
—] :V> — S — — s g-:) {E—?
— £ N N4 % ?5
- E B
r @ il £ £ r £ 2 H
] a o L ol t s M
© £ i g 7
- LFa a J z |
= 0 -~
L ~ U ] SH=l 5

FLEXWAVE WP>1—X

(@)]
N



i

Standard type A
FEaEtE (EHF) Life estimation(Main bearing)

DREAKERmE—XVIDEH

Calculation formula for the largest working moment

?kgﬁ{_xy ) Mm | Nm  Mm=Fm - (Lr+L)+Fam - La
eak working moment

BKRZ VT IRE Frm N Frm = Fr,, Fry ==« Fr, O&KIE
Peak radial load Frm = Largest among Fry, Fr,, - Fr,
BRAT F 2+ ILE Fam N Fam=fa, Fa, - Fa, DERKIE
Peak axial load Fam = Largest among Fa,, Fa,, -- Fa,

RRBHE—XVIMHABRE—AVIMITTCHRI L E THRELLEN,
Please make sure the peak working moment is below the maximum allowable moment.

QST INEE - FHTF Y vIVAE - FHHEARELY - FHERE—XV OHEH
Calculation formula for the Average radial load, Axial load, Average output rotation speed,
Average working moment

¥ ST IEE e | N Frass| e telFrol s ne tal | Yot e | Fr [
Average radial load npet,+n,tbeetn t,
. . 10 10 10
-T-F-iﬁT:\:‘/’\’/}[/{E_[E Faa N Faa:1% n1't1’|Fa1| /3+I72- l‘2°|FaZ| /3+’“+ nn' tn‘lFanl /3
Axial load nw.t1+n2.t2+...+nn-tn
N = = . + . coe .
S IR nao | r/min  nao= " Lt Nyt Ny
Average output rotation speed t+ b+ e+t
n
A:Fi/’jﬁﬁf_x Zh Ma Nm  Ma=Fra-(r+L)+Faa-la
verage working moment

QRERM -BEM>Y 7 IILREOHEH

Calculation formula for the Loading factor, Equivalent radial load

Faa
Fra+ 2Ma /Dm

=150HB4E. Xc=1.0, Yc=0.45
R o

Loading factor

Faa

> 1.5mn%4E. Xc=067, Yc=0.67
Fra+ 2Ma /Dm

B> 7 ILEE - Xo- .
Equilvalént radial load Pc N Pc = Xc - (Fra + 2Ma/Dm) + Yc - Faa

@DEMZOFaFHEOTE

Life span for the main bearing

10
FEZFHFORE 10° C \s
Life span for the main bearing Lhe h Lhe= 60-nao * fwe Po
1.0 : HEZHEDLLRWEGE no shock
Irr%%t{ii%or fw - 1.2 ZLOEEEHEIHE  with some shock
1.5 IREMEEZHOHE with shock and vibration

55



=%
I1TA

Standard
type A

=4 o sHe ' .
ANENDOHERIRIE Maximum load at input shaft P
S & KRR
SRR
5z &
WAk (F—T VB, 22y 94 7) Bearing specification (Open type, Unit) e T
RFYVY A ~FYVYB = 3
Bearing A Bearing B % ’%
) —= YA 2| EAREEREE EARBERAE EABERFE HABRTERATE a b i
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating g
C Co © Co ﬁ*
N N N N mm | mm éjg gjn\r
35 4000 2470 4000 2470 16 | 27 o3 ®
42 4300 2950 4300 2950 16 31 ég' g
WPU-[J-[1-SNH| 50 4500 3450 4500 3450 145 | 27.5 - 2
63 4900 4350 4900 4350 155 | 30.8 55 2
S0 =
80 14100 10900 5350 5250 19 | 37.0 gg— g
85 2240 910 1080 430 24 | 21.5 5'% ey
42 2700 1270 1610 710 27 | 23.5 - %
WPU-[J-CI-SNJ| 50 4350 2260 2240 910 315 | 26 58 %
63 5600 2830 2700 1270 37.5| 29 zé 3@
80 9400 5000 4350 2260 39 | 38.5 “:’t?_, E_‘i:
o N L
7YV TA 7YV TA i
Bearing A | . Bearing A ] . 5
’ R7YVIB ’ SVONZI: : B
\P Eiﬁj Bearing B \i M Bearing B = Al
— | i 3z W |
a2 el | §§ e
— — FE|
a b a b el J%
2
5 9
W SFATE (T AHEES: 2000r/min., F#EE : 7000h) s
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h) 5 A
)
§ g
WPU-J-1-SNH WPU-J-[1-SNJ - B
28 S
c =
800 35 500 35 e
\ —12 e 4 oS x|
450 2832
700 e 50 \ e 5,0 ?gg %
400 63 o3z =
—_— 600 — 63 — \ — §~<% "
= \ ——80 Z, 330 80 gy =
= S0 \ L 300 \ :
W 400 W 250 AN 3z £ |
= 300 N\ \ 2 200 m——\ \ gg //lg
N AN R | ‘if
NS pr— N 5 F
N 200 O O\ NS 100 _\\\\\ AN s 4
IN IN = 7
100 R
NS, N\ 50 NN o 1
0 T T T 1 0 T T 1 g I]_E
0 100 200 300 400 0 100 200 300 = 7
< = ~ — g &
7H+UvILE Fa [N] 7w E Fa [N] g
Axial load Axial load R

FLEXWAVE WP>1—X

(o
»



57

Standard type A
SEYBE lubricant information

ERAI)—X
Grease

237 Ly ZMP No.2 ({ESEEBEIREE%E) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature)

J)—2&H

Grease application

PUF @Y, BoEEg & ERIC T —2Z2BHE L TIEEW, Please apply grease according to the table below.

W J)—RBME Grease application

-BAEICIE BEEORMZS (BARIAEAS, FAS. THS) CKVEREZEERL TS,
(T)—REHABHDIZY MAT(Z.CHERAZT)DITU—RENTEINTVWET,)

HEED LA E . TREDHEFATASSY ~T —AREECZEBD50% DTV —REFEL TLIZEL,

A —RREHC LU U—RD AR T 2B AR B FTHRVAhE L, g
-The quantity of grease applied to C should BRI Applied part

be adjusted depending on the mounting HAZ c c c

direction. i

C of the unit type product is already s A B (&) | (EAE) | (FAZ) D

. . : Horizontal | Vertical up | Vertical down

filled with the same quantity of grease as

horizontal mounting. 35 0.3 0.3 6 8 9 0.3
-For vertical up/down, 50% of the space 42 0.5 0.5 10 12 14 0.5
between input assy and casing inner wall 50 08 08 16 18 21 08
should be filled with grease.

-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0
W) —RBMEB Grease application location

| WPC-[1-[J-CF(CN) | | WPU-[]-[1-CF(CN) | | WPS-[]-[J-SN |

(Har ) c
Horizontal Feaped
— ] — —
<} _ o <}
2 oz EEDS0%ETE
ZERD50% % FTIE
Fill 50% ofﬁ?e gap in volume bz ZEED0%ETE
(FAE) ] |
Vertical E ‘ ||
own i ™
‘ (&7
A ASSY AJI ASSY /
input section assembly
AF ASSY
A ASSY \
input section assembly
(EME) ;
ertica °
@,

T2\ Z=RD50% % T ZRDS00E A



=%
I1TA

Standard
type A

EN{~T¥5 R Attachment fixture requirement

2% (il
82 B
5o i
= &l
B EAHEE Attachment fixture requirement e T
| WPC-[J-]-CF(CN)| > 1
(O
S
(L] ¢ [A (L[ N 2
(L] = [A 2
a r—2 ﬁ% % —
o o =
[ %9 ] 2% &f
= U o S5 B
5 < AN 25 ®
Ssl H = g~
o q% ijﬁ = |
Output o gy g 4 * gg o
Top- & “ 7 = e
% % ]
2% 7
o2
TR [mm] £3 9
¥4 Z S5
=k 35 42 50 63 80 » T
a | 0015 | 0015 | 0018 | 0018 | 0.023 £ M
b | 0010 | 0012 | 0014 | 0016 | 0.020 ] ﬁ
c | 0013 | 0013 | 0015 | 0018 | 0.020 g
d | 0015 | 0015 | 0018 | 0018 | 0.023 2
e | 0015 | 0015 | 0018 | 0018 | 0.023 32 I
2=
f 0012 | 0012 | 0014 | 0016 | 0016 4 g
g | 0016 | 0020 | 0024 | 0024 | 0.024 i
5 =
| WPU-J-1-CF(CN) | | WPS-[J-[1-SN | : %
)Y
©f ¢v g
(L] = [A s 5
Casing g A B
Z o, (oW - &
=l % }\7185 % ig
=2 £8 2 g
— Mgg §§ ﬁw @ |
= #(Ee ® 535 &
(L[> A IR s23 =
/ (2} % -
: - 3
) ]
D =
g8 )
BT RERE [mm]  EfHHEE [mm] 52 B
4 X YA X s 7
ik 35 42 50 63 80 (i 35 42 50 63 80 s 4
a | 0020 | 0020 | 0020 | 0025 | 0.025 a | 0025 | 0025 | 0025 | 0.030 | 0.030 o |
b | 0012 | 0012 | 0.014 | 0016 | 0.016 b | 0020 | 0.020 | 0.020 | 0.025 | 0.025 g &
c | 0016 | 0,020 | 0.024 | 0.024 | 0.024 ¢ | 0020 | 0020 | 0020 | 0.025 | 0.025 z |
d | 0012 | 0012 | 0014 | 0.016 | 0.016 2
e fos)

0.016 | 0.020 | 0.024 | 0.024 | 0.024 —

FLEXWAVE WP>1—X

(o)
(o]



L

Standard type A
{=ZENJLY Transmitting Torque

AIL MERfT

Bolting
RILMDOFER MLOIETEROBEY T,
RILIAE (-CF.-CNTEZD) LT MLIICURZEFBEE MLIODERVETOTIEFRSLEL,

Please refer to the table below for the bolt tightening torque.
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

RILNEERH R ILY

Tightening torque for bolts

RIL A X Bolt size M3 | M4 | M5 | M6 | M8 [M10 HEZERILE @ BBERX S 12.9 Bl E
#EAF R LY [Nm] |Tightening torque | 1.9 | 4.3 | 87 | 15 | 36 | 71 Recommended bolt
Strength rating above 12.9

[EERILY (UR—ZB 2=y 547
Bolt specifications and Transmitting torque (Closed type, Unit)

HH 75V ISt Output flange attachment

PP Size 35 42 50 63 80
RIL A X Bolt size M4 M5 M6 M8 M10
AL AR Bolt count 6 6 8 8 8
Bt PCD [mm] |Bolt PCD 23 27 32 42 55
¥+ Lo [Nm] [Tightening torque 4.3 8.7 15 36 71
{=2 bJLY [Nm] |Transmitting torque 56 106 238 566 1177

AV FILFTES (CN) Internal gear attachmen

=

PR Size 35 42 50 63 80
AL A X Bolt size M4 M4 M5 M5 M6
RIL b A Bolt count 8 8 8 10 12
B PCD [mm] |Bolt PCD 65 71 82 96 125
R R JL4o [Nm]|Tightening torque 4.3 4.3 8.7 8.7 15
{=ZE bJLY [Nm] |Transmitting torque 210 230 430 629 1392

A VA FILEVEST (CF) Internal gear attachment

T4 X Size 5 42 50 63 80
RV A X Bolt size M4 M4 M5 M5 -
NIV M AEK Bolt count 6 6 6 8 -
Bft PCD  [mm] |Bolt PCD 65 71 82 96 -
¥+ kLo [Nm] |Tightening torque 4.3 4.3 8.7 8.7 -
{=2E bJLY [Nm] |Transmitting torque 158 172 322 503 -

A2 R F IRV EfT

Internal gear attachment N

Y ho 5y CH
Output flange
attachment

59



(EENLY (YO—ZB aVvRY R 4F)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

HA4 X Size 85 42 50 63 80
AL HAX Bolt size M4 M5 M5 M6 M8
RIL b AEK Bolt count 6 6 8 8 8

Bft PCD  [mm] |Bolt PCD 17 19 24 30 40
#Et b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{mZE b JLS [Nm] |Transmitting torque 41 75 126 223 539
A5 FILFVYESA (CN) Internal Gear Attachment

b4 X Size 5 42 50 63 80
RV A X Bolt size M3 M3 M3 M4 M5
RIL b A Bolt count 8 16 16 16 16
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
54 bJLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z IS [Nm] |Transmitting torque 82 200 230 485 1048
A V9 FILFVEST (CF) Internal Gear Attachment

PP Size 5 42 50 63 80
R4 X Bolt size M3 M3 M3 M4 M5
NIV M AEK Bolt count 6 12 12 12 12
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
¥+ kLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
{=2E bJLY [Nm] |Transmitting torque 61 150 172 364 786

Ly 2 X EIfT

A2 R FILXVEIf

Internal gear attachment

Flex gear attachment

OtV IRMIEN Reinforcement

Ty AF VRN DIEZENIDEREF STV HGEX EVOFRAZFEWNLET,

EYVRIEF T3V TENMFIRETT,

-

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

WP-35, 42

Thru hole for pins
=N

Forcing tap

WP-50, 63, 80

FLEXWAVE WP>1—X

SuooNJIsul

=%
I1TA

Standard
type A

| BHE R

suoneoloadg
/ |epoIA Jeonpay

S

8|ge| suolsuawi(

uoinewnse oy

D | () SRS

(Bunreaq onse|)

a

>Nl o

(Bureaq urely)
UolBWINSe aj
(YptHy ) I

yeys indul
18 PBO| WNWIXBN

e

OB

i)

oS
TH B

R

Juswalinbal

pue uone|esu| | ainonis uoioas INduj | anbaog Bunpwsuell | ©1n)x1) JUSWYOBNY | UONBWIOMUI JUBDLgN|

(o 2 >

Alquasse

i T P

ainpaooid

uone|[eIsul 010N
ps]

1R SONSIIBI0BIBYD
N

60




61

Standard type A
{=ZENJLY Transmitting Torque

TEMLY

(A7 8)

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT Flex Gear Attachment

HA4 X Size 85 42 50 63 80

AL HAX Bolt size M3 M3 M3 M4 M5

RIL b AEK Bolt count 8 12 12 12 12

Efst PCD  [mm] |Bolt PCD 64 74 84 102 132
#Et b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7

{mZE b JLS [Nm] |Transmitting torque 119 206 234 495 1037
AV HFILFVEUT Internal Gear Attachment

b4 X Size 5 42 50 63 80

RV A X Bolt size M3 M3 M3 M4 M5

RIL b A Bolt count 8 16 16 16 16

Bt PCD  [mm] |Bolt PCD 44 54 62 77 100
54 bJLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

{=ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048

7Ly RXYEA

A2 7 F L EfT

Flex gear attachment

I

7Ly Y ARVEff
Flex gear attachment \

Internal gear attachment

A > 2 F )L F v Eft

qp
- q—r/ Internal gear attachment
-1
]

7L vy R Xy EHf
Flex gear attachment

N

AV B F LY Ef
" Internal gear attachment

R e R

—1 11




=%
I1TA

Standard
type A

\ﬂ: .
ANFIERREE Input section structure .
58 B
SRR
5z &
e R
ANBBDIESE =
Input section structure © < B
. o _ o JN s e o e , _ e JE
ANBEEE R T4V 547 (BEBROEE) LUV Y RIATHHY ADNEZCLVERVES, 3 =
RIS ERIC TR RS, G
There are two types of input section structure, spline type (self-centering feature) and rigid type. s |
75 X
o] ® A
52 &f
o — N o = \ N Y D o o3 &=
W74V 5947 (BBAOEE | WDV N S
Spline type (self-centering) Rigid type 3" %fg
O 52|
>g Zf
35 =
=T oE
N 5 A B
2% 7
—— — 52 B
B > %
[0 X
o AT
o 28
X
s B
= Al
s N :
DLNRETE g
Cam hole diameter 3z W |
4 > — N N 3 4 NN = /- ° S, 4 g?)% {Tj
NLNRBETEESEETHIENFRETT . FROBENETEUTOHRI AT IA V54T RERE~ EERS
BRNEOHEIZY Yy Ry TERVES . TROFBENDOTENBELSEE SELEHEES L, s E
The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be 3
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole 3 =
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table. g E
E b
)
O] g 7
H v Z A
2 %
s
A s’
o (/N : &
\ / 5
% .
B 2% IE
3 - &
s = |
g i
51 Ls~FHiE Cam dimension [mm] 52 &
¥4 =
Size 35 42 50 63 80 S 4
BREENE o g |
standard bore size 6 8 12 14 14 3 E
RANE V 17 | 20 23 | 28 | 36 31
maximum bore size S 4
F/ME & H 6 7 8 9 11 g

minimum thickness —

FLEXWAVE WP>1—X 62



63

Standard type A
SERERIR Installation and assembly instructions

AS - H A XK (wpe-0-0-c0)

Shaft installation instruction

ADEh - BOEX BHCVERT DOV TV IRME - TE P IR EZR (TR OBEL L TIZEW,
(TRIZSZEH)
ALICIEBREARARDODRASAMTENMERLET . A LD BB EICEID7EWNE D BEEL TS,
Please design the support structure for input shaft and output shaft so that both radial and axial loads are

supported. (Diagram below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

Hi 7%
Output shaft VWAL
Input shaft
B {~t <% (wpc-0-0-c0)
Attachment flange requirement
TLyI2F P eET DM T IV I 7Ly I AT VB LD
. FEOTEEFS TS, i
For the attachment flange that comes in contact with flex gear, please _ ,7i|>
build the corner radius according to the table below, in order to prevent
damage. I | o
[mm] ©
EvEe) Al
o 35 42 50 63 80 L1
D 24.5 29 34 42 55 j
R 1.2 1.2 1.4 15 2 R
t 2 25 2.5 5 7 t
I$HLIEER

Warm-up run

MIIE TR BRENT GEERT DRI RO LEEREERL TS,
HIRICBRMLI)AZHEEORE2EICELEFE DI LT,
BREMNTIRETUBEEOENLTEL. TR EREZREBE TN TEET,
(75 L:BER DS ]
Y maT
- ASJEIEREL 1,000r/min L FOAARENSDoUEIES B, 3,000r/min EFTEESED
B ERAFE 1RFEREE
-HAEEAE BHOKRESKITD
After assembly, “Warm-up run” is necessary before run with load / torque.

The purpose is that, Flex gear & Internal gear surface to be coated with grease evenly,
in order to meet the enough performance with load / torque.

[Condition example]
-Load No load
-Input rotation speed  Start slowly from 1,000r/min or less, then accelerated and reached to 3,000r/min
-Test time About 1 hour
-Output rotation Angle As large as possible



E—4BUTHE Motor installation procedure

MUBTB(LBEBEICE— Y ZEERVUMT2 2L IETEEF A, E—9BMUMFICHRELIMRE CHEFBZIL,
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

E—AE A FE WPU-0-0-c0)

Motor installation procedure

W EftFIE 1
CE=HICTIVVERUAMMT
- E—HEIC ASIASSY E BT
‘A hAERURHT

Procedure 1

-Attach the flange on to the motor

-Attach the input section assembly with elastic bearings to the
motor shaft

-Attach the uni

CE
J
1[
i
I
|
(11
I

|
™M

|

|

T

L= 3 1 {H &5

=

I - t—
g /8 AF1 ASSY . el
T input section assembly =1 Eﬂ’
azv b
unit ToVY
flange

Procedure 2

W EfTFIE 2
- E—58IC ASJASSY ZERU S
CE—HICTSVIERUAMIT
sy MAERUGHT

-Attach the input section assembly with elastic bearings to the
motor shaft

-Attach the flange on to the motor

-Attach the unit

— —t— Tovy

TE%

flange

I

[T]

= § &

T4

- motor

AF) ASSY
=7

input section assembly
- —

unit

BB ODJER Caution during installation

- BE RO AE O TR, BELRATHLATZVTSIZE L,
* AJJASSY L E—S EEITTRALBGVLELSITERL TS IZE L,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

| BHE R

suoneoloadg
/ |epoIA Jeonpay

S

8|ge| suolsuawi(

uoinewnse oy

D | () SRS

(Bunreaq onse|)

a

>Nl o

(Bureaq urely)
UolBWINSe aj
(YptHy ) I

1yeys Induy
1B PeO| WNWIXB

e

OB

i)

oS
TH B

R

Juswalinbal

pue uone|eIsu| | ainjnis uonoss indu| | enbio] Bumiwsuel| | einixi) JUSWYOBNY | UOTBWLIOMUI JUBDLIGN|
~—
<

(o 2 >

sy kb

suononisul
Alquasse

ainpasoid

1R SONSIIBI0BIBYD uone|elsul J0jo
N

(@]
x



)

Standard type A
BrMEST—4 Characteristics Data

AELGERE

Transmission Angular Accuracy

1.0
AEEERELIT
BT CAN#MZEEGESELEAOER/ LN £ 05 Tﬁf§4§§*§f§y
HIN R f & ERR OHI N EEE B 3= 5 s
. . . o 0.0 1 M“,I\\‘H“]ll\I“ml““\‘l‘mlu W,‘ MMEnnEnER I LL
What is Transmission Angular Accuracy? -0 I il L "Il[ m“””m”m l””l”””[l'l”""
It is the difference between the measured output %’i ug
rotation angle and the theoretical angle, while % -0.5 =N
input shaft is rotated with no load. o
10, 90 180 270 360
HHEE R A E ()
Output shaft rotation angle (deg)
[arc min]
o P4 X
BOE Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0
MRDERFSEETT,
Table values are reference values.
EXTFUAOR
Hysteresis Loss
ERFUL2O0RENF REnE
ANOBIZEBEL CHAEIC ML ED TS A
oOEOMNLIEORINABDE EXTIRAR
) ) Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 1 > kLY
fixed, there is residual twisting angle when Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4
BOE L Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
160 - - 1.0 1.0 1.0

MROEFBEETT,
Table values are reference values.

65



F1TA
Standard
type A
g8 il
82 BE
5o i
5z &
= S =, , B ag A
RANNVITYVE .
Maximum Backlash [arc sec] o <
2 ik
s = P4 X § =
BRIV ISyVEET R e g
N - 5 N Rati o
ANBHIRTSAV 947 DHEDHABIDHS Aol 35 42 50 63 80 g
(BEDOBEHEWERD/NY I Ty (& 0 Dfeth. Uy 50 27 27 18 16 16 —— =
REATTIENYITy(E 0 E8UET,) 80 17 17 11 10 10 gg g
What is Maximum Backlash? 100 13 13 9 3 8 %g :,%t
In this context, maximum backlash is the 120 11 7 2 7 Ex] #
output backlash for spline type input shaft. - e ;?
(Backlash is zero for rigid type input, because 160 - - 6 5 5 zc = |
gear engagement backlash is zero.) N g—ﬁ
38 =
.
B (s n—2X8, 1=y b5 47) Kl hL2 30 ~ T, OIS EEREA
. . Spring coefficient at 0 ~ T, torque §§ E
Stiffness (Closed type, Unit) K2 FLO BT, ~ T, dlEtasesh 23 2
Spring coefficient at Ty ~ T, torque 2 ;E:
Rt & (& K3+ PO T, ~ DlFREsk 2 g
L Spring coefficient at T, ~ torque E———
AN ZEEL THABMIC ML 2 T=5E g {E':E
S 1~ =y N _ 8
DIFREHLRLNA N — = A
What is Stiffness? K, 5 S
In this context, stiffness is the output shaft © E Q§°
twisting angle and the spring coefficient, while &E g | i 32 m |
torque load is applied to the output shaft with f > ' S8
input side fixed. Lz K, E : EERE
= : : s E
= : : =
0 ' : = = |
R S 2 &
Load torque EREIN
a@ )é/
. _ - Y4 X 3
BOEL S L, Size 5
Ratio item unit 35 42 50 63 80 é %
] T, Nm > 3.9 7 14 29 g )—%’%ﬂ
S Tz Nm 6.9 12 25 48 108 g =
K, x 10°Nm/rad 0.28 0.69 1.1 2.7 56 R
283 I
Ko x 10‘Nm/rad 0.45 0.85 17 3.3 7.1 1§ 'j;j
50 Ks x 10°Nm/rad 0.55 1.1 25 4.0 8.3 <% m
6, arcrin 23 0.2 2.0 18 2.0 &
0, arcmin 5.7 45 5.3 55 6.5 EE B
K x 10°Nm/rad 0.45 0.92 1.2 3.3 6.9 §§
o K, x 10*Nm/rad 063 11 18 37 8.1 =
100 g
Ks x 10*°Nm/rad 0.70 1.3 2.2 4.5 10
120 : 2
160 0, arcmin 1.8 1.3 1.8 1.6 1.7 g
6, arcmin 4.7 3.5 4.8 4.4 4.9 3
HEOEETHETT, g

Average value shown in the table.

FLEXWAVE WP>1—X 66



67

Standard type A

BrMET—4 Characteristics Data

)

EaEj~ILY | [cNm]
(HO—ZFE, 1=y F 4 T) L EASe

Starting Torque Ratio 35 42 50 63 80
(Closed type, Unit) 50 | 1.7 | 39 | 55 | 87 | 19

ML EIE
ABDBIDSRESEDHEIC ADAIDEERE
RHDILY

(&R AEERE:25°C)

What is Starting Torque?

Input torque needed for input side to start
rotating (no load, ambient temperature : 25°C)

1 EEE MILD
(VO0—ZB, 2=y b547)
Output Starting Torque
(Closed type, Unit)

EEEH LI LI
HAORIASEERS 5B E(C HAED EERZ
RHDRILY

(E&fr. ABRERE 25°C)

What is Output Starting Torque?

OQutput torque needed for output side to start
rotating (no load, ambient temperature : 25°C)

80 1.9 4.2 6.0 9.5 21
100 1.6 3.5 5.0 7.9 18
120 - 2.8 4.0 6.3 14
160 - - 3.6 5.8 13

M1 FERAREFCLVENIRZUEITOT, BBETT,
M2 ADAIA A LY=L R—ILRT Y v T EDREET
ICEDEELIEEFNTVWEEA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[Nm]
— 515
Ratio ™35~ T 22 | 50 | 63 | 80
50 | 13 | 26 | 45 | 57 | 12

80 1.9 4.0 6.8 8.6 19

100 2.1 4.4 7.5 9.5 21

120 - 5.3 9.0 11 25

160 - - 9.9 13 29

M¥AFEAREICLVENERYFTDT, BEETT,
W2 ABAIA ALY —ILPR—ILART ) v T & D RIERIK
CLBEEIEIFNTVWETA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.



I1TA
Standard
type A
LT
2S B
SRR
5z &
y= cNm g =
Ema ‘ [eNm] =
— N )= > i S AN [EEREL Y4 X |
7/—/7 l\)l/g ’%’%H’ Input rotation Size 5 ;

o o L
(YO—XE 2=y by47) 70 | speed 3 | 42 | 50 | 63 | 80 i
No-load Running Torque 500r/min 3.1 5.1 11.2 | 13.7 | 26.1 2
(Closed type, Unit) 5o | 1000¢/min | 34 | 54 | 124 | 152 | 286 5

. 2000r/min 3.6 5.9 13.6 16.9 | 313 —~c = |
4 =)= y o =
ARSIV TRLIEI 3500r/min | 3.9 | 6.3 | 149 | 18.8 | 34.2 Bg 2V
BEACEBIEIDICLER 500r/min | 43 | 7.7 | 84 | 156 | 28.6 g3 2
ADRDEILY 6o | 1000/min | 46 [ 83 [ 92 [ 173 | 312 RN
(F5fE. RERE : 25°C) 2000r/min | 5.0 | 8.9 | 10.1 | 19.2 | 34.2 1
What is No-load Running Torque? 3500r/min | 5.4 96 | 11.1 | 21.4 | 37.4 5¢ fg
Input torque needed to keep it 500r/min | 2.9 | 7.4 | 95 | 142 | 2255 TR
running with no load (average 1000r/min | 31 | 80 | 105 | 15.7 | 24.6 33 =
value, ambient temperature : 25°C) 100 i
2000r/min 3.3 8.6 115 | 17.5 | 26.9 =
3500r/min 3.6 9.2 12.6 | 19.4 | 294 §§ %
500r/min - 6.1 9.2 12.4 | 26.3 §§ %@
150 1000r/min - 6.5 10.1 13.8 | 28.8 jg %f
2000r/min - 7.0 11.1 15.3 | 315 2 g
3500r/min - 7.5 122 | 17.0 | 34.5 s om |
500r/min - - 8.0 | 13.9 | 29.1 g N
g 1000r/min - - 9.1 14.8 | 30.8 El
2000r/min - - 10.3 16.2 | 33.1 5
3500r/min - - 116 | 17.7 | 357 — —
Sz
1 EREHIC £ U ENRR U ET 0T, BEETT, 2
W2 ATEA A LY —IUXR—IUART Y v TEQREREIC & 222832 32 E
FNTLEBA. 5
*1 For reference only. Torque value may vary depending on the condition. 3
*2 Charts does not show effects due to rotation resistance of bearings S = |
and oil seals on the input side. 5 =
2
2
5 9
g Al
e 7
g B
s B
s &
3 - &
25 |
=)

FLEXWAVE WP>1—X 68



69

Standard type A
BrMET—4 Characteristics Data

TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-35-50 WPU-35-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 | 1000 r/min
s 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 [ e 3500 r/min
2 2
o 70 © 70
L 60 o 60 /
§ 50 § 50 /
# 40 40 ////
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
e
o 70
o
= /
40 ////
30
20
10
0 20 40 60 80 100

B (%] Percentile Load



HER (yn—2F, 1=
Efficiency (Closed type, Unit)

v 854 )

& (%]

C BfRbLY

BEERE : 25°C
1 TS 7(3EBT—HDFHETT,
M2 AFEIA ALY —IILPR—=ILR T v T E D EER

BEHICLDHEIEINTVEEA,

ABRERKNLY

WPU-42-50
100
e 500 r/min
90 | cmmmm 1000 r/rmin
s 2000 r/min
. 80 s 3500 1/min
2
o 70
o
60
= 50
H 40
EN
30
20
10
0 20 40 60 80 100
&7 (%] Percentile Load
WPU-42-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ === 3500 r/min
2
o 70
S
L 60
= 50
M 40 /
30
20
10
0 20 40 60 80 100

B (%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

actual measurement.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

100

WPU-42-80
100
@ 500 r/min
90 [ cmmm 1000 r/min
s 2000 r/min
- 80 | e 3500 r/min
e
o 70
QO
L 60
= 50
- 40 /
30 /
20
10
0 20 40 60 80
&% [%] Percentile Load
WPU-42-120
100
e 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 { e 3500 r/min
2
o 70
© /
= /
= 50
# 40
R
30
20
10
0 20 40 60 80

100

&% [%)] Percentile Load

FLEXWAVE WP>1U—-X

SuooNJIsul

2

IA17A
Standard
type A
2%
S5 BRE
o @
22 B
S0 ==
w% T\
. ~
o~ |
3 N
g ik
2 %
=}
(2]
Iy
(e}
[}
—~ [
hy 2
gg ZY
o= =
>3 =
o8 =
5
5 3
R
=
N
=] .
o2 &
vy ®
3/ N
as A
g
5= A |
28 7
w3
55 O
- 4
S /B
2 Fl
=)
&)
3
L
o
=)
3z H
o=
8 4
® 2 uE
33 7B
s E
=3
g
3
=
|
g
5 7
S
C
[0}
3 A
s A
g B
: B
s =
(=3
=
(o]
22 iE
es B
T =H
‘~<% IE
> I’
=}
o
T =z [
22T
o
o =
o5 ¥
sz H
5 i
5 A
=}

ejeq sansuajorIey)

70



71

Standard type A

Rt —

A Characteristics Data

PR (YO0—REB, 1=y h ()

Efficiency (Closed type, Unit)

B (%] - Rkl /

AAREM LY

-Percentile Load (%) is equal to load torque divided by

BERE : 25°C

allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent

the average value of the

1 TSTERBT—IDFHIETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHEEIEINTWIETEA,

actual measurement.

*2 Charts does not show effects due to rotation
and oil seals on the input side.

resistance of bearings

100
@ 500 r/min
90 | e== 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
@ 70 l
2 /
i 60 /
= 50
# 40 /
S /
30 /
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-100
100
e 500 r/min
90 | === 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
o 70
Q
1 60 ///
= 50
Lx 40 //
R
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
N 80 | e 3500 r/min
2
o 70
L
o 60
£ 50
# 40
R
30 '
20
10
0 20 40 60 80 100

&1 [%] Percentile Load

100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2
©
T 60 /
W 74
® 7
30
20
10
0 20 40 60 80 100
a7 (%] Percentile Load
WPU-50-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
-, 80 [ e 3500 r/min
2
© 70
o 60 ///‘——-
T 5 /
" y =
R 40 /
30
20
10

40 60 80 100

&7 [%] Percentile Load

0 20



TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

& (%]

BAEEE : 25°C
1 U5 73ERF— Y DOFHETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHEEIEINTWIETEA,

BRIV | BFRERNLY

WPU-63-50
100
@ 500 r/min
90 | e 1000 r/min
s 2000 r/min
.. 80 e 3500 r/min
2
@ 70
o
o 60
= 50
# 40
® /4
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-63-100
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
60 /
S 50
% 40
EXN
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
500 r/min
90 || e 1000 r/min
e 2000 1/min
> 80 || = 3500 r/min
2
@ 70
o
o 60
= 50
B 40
=R
30 14
20
10
0 20 40 60 80 100

& [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

40 60 80 100
&7 [%] Percentile Load

WPU-63-80
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
> 80 e 3500 1/min
3 70
Qo
L 60
£ 50
H
30 4
20
10
0 20
WPU-63-120
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
o
3 70
o
O 60
£ 50
= /i
30 /
20
10
0 20

40 60 80 100
&7 [%] Percentile Load

FLEXWAVE WP>1U—-X

SuooNJIsul

IA17A
Standard
type A
g2 (il
S5 BE
g kl%
T
jO Y
w% T\
. ~
o ~ |
s 3
o S
2 %
=}
(2]
Iy
(e}
[}
—~ [
oy X
28 &f
ok
g” w
=
= [
=} -
g2 &
23 ®
55 =
Q3 ==
- B
g
5= A |
28 7
w3
23 P
ﬁg ?‘_f
P
i
El
&)
3
L
o
=)
3z H
o=
c8
5% waE
s
S = =
=3
g
3
&
S
2
5 7
S
C
[0}
-
S
S B
2 |
s &
(=3
=
(o]
83 IF
.
gl =
<S 17
> I’
=}
o
T =Z [
22T
o
o =
g5 7
sg MW
5 i
5 A
=}

ejeq sansuajorIey)

72



73

Standard type A

BrMET—4 Characteristics Data

K (yO—xE, 2

v 854 )

Efficiency (Closed type, Unit)

L

B (%] - Rkl /

BAEEE : 25°C
1 U5 73ERF— Y DOFHETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHEEIEINTWIETEA,

AAREM LY

100
e 500 r/min
90 | e== 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
o
L 60
= 50
# a0
Rl 7
30
20
10
0 20 40 60 80 100
& [%] Percentile Load
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
o 70
L
o 60
'§ 50
# 40
R
30
20
10
0 20 40 60 80 100
&1 [%] Percentile Load
100
500 r/min
LU PR 1000 r/min
e 2000 r/min
_ 80 [ e 3500 r/min
2
o 70
Q
o 60
= 50
¥ 40
R /
30 —f
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by

allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-80-80

100
90
80
70
60
50
40

%= (%] Efficiency

30
20
10

WPU-

100
90
80
70
60
50
40

2= [%] Efficiency

30
20
10

[[| === 1000 r/min

e 500 r/min

s 2000 r/min

e 3500 1/min

20 40 60 80 100
&7 [%] Percentile Load
e 500 r/min
[| e 1000 r/min
e 2000 r/min
[ === 3500 r/min
4
0 20 40 60 80 100
&7 [%] Percentile Load



MEMO

FLEXWAVE WP>1—X 74



75

Flat type D
SRR BT Reducer Model Nomenclature

WP

U

35

50

CD

V-4 947 Y4 X WBOE EE a— R~
Series name type Size Ratio Code
WP Y—X C:Ivkxybs47 35 50 cD
Component type
WP Series S 42 80 CDH
Simple unit type 50
U:21=vhoA47 100 SD
2= N4 T (rzesh) 63
Unit type
Hollow unit 80 120 SDH
MO— PRI TERE CHERIZE WL,
Ju D ahili For the code detalils, pl heck
OHER Avalapilly For e col ceais pease chee
Ratio matrix
@ B
% 42 50 80 100 120
g 35
o 42
L
50
63
80
A AR N 'yl .
SR B KR Reducer Specifications
2 3 4 5 6 M7
‘ HFAER HFARK ERRRA AT HFARE PNt
. | BOEEL by by by AN EEES AN EEEEK
-'j-./f A | ‘Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lif
Size R*! torque torque torque input speed speed e
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
85 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 100 16 37 55 3000 7300
120 16 37 55
50 17 39 69
80 24 51 75
50 100 28 57 76 8000 6500 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 100 47 110 152 8000 5600
120 47 110 152
50 53 151 268
80 82 212 334
80 100 96 233 359 8000 4800
120 96 233 359

¥ 1 REZ p.4 ORICANTHELEZRDTLIZE L,
% 2 AAEERER 2000r/min OFFICHR T DHAME

¥ 3 HTED - (ISR T 2RAM

WA EEENVER LIBICHRT 2RAE
¥ 5 EERICHAR T D FHANEEHOBEAE
3 6 BEHICHA T D AN EEHORAE
3 7 ANIEEEH 2000r/min, AR LY BRROFHF O

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



R
947D

Flat type D

~FyE3R Dimensions Table g3 (m
5% X
HSO—X8 QVRRxY YA T . B |EEE-—XUF N
Cl dT C "j'S’f7\ Weight Moment of inertia
osed Type, Component ize < X 10kgn —
35 0.062 0.0226 :
WPC-[1-1-CD 42 0.10 0.0565 : =
50 0.16 0.113 =
63 0.26 0.342 s
80 0.57 118
Ay X
bg om
LF LG o
R
LH <« T
L) #
= =
S5 = E% =
= R
G SF 35 =~
A= es 3
) i =f |3 v
3€| = ws g3 = -
© +H L 25 A
H = c X jj
- LK §§ &
=3 D
8 &f
o =
|
cy S
X -
c B
s B
2 bl
8 W B
<8 fif
[mm] A2 B
ﬁgéé‘ LA | LB LE LF | LG | LH LJ LK N | LT ’
35 44 50 11 6.5 45 1.4 ; 0.3 6 35 - M3 5 g
[ =
42 54 60 125 | 75 5 17 : 0.3 8 35 - M3 % r
50 62 70 14 8 6 p) 3.3 0.3 12 35 6.5 M3 E
63 75 85 17 10 7 2 3.3 0.4 12 3.5 6.5 M3 5
80 100 | 110 20 13 9 25 4.4 0.5 12 45 8 M4 53 3 |
5 =S 18
AX | sa | sB | sc | sD | SE | SF | CX | CY | CZ | M | ST | sU 23
35 17 11 235 11 17 4 6.5 1 38 8 35 M3 3
42 19.5 11 o7 15 21 5 75 1 45 8 45 M3 ° ]ﬁ B
50 24 16 32 20 26 5.2 8 15 53 8 45 M3 & _T
63 30 20 40 24 30 6.3 10 15 66 8 55 M3 s 4
)
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4 2
% CX. CY. CZ (3T —AMNEEHER~TETT, *Inner dimensions of CX, CY, CZ are recommended dimensions. o

FLEXWAVE WP>1—X 76



77

Flat type D
~T3yE3ZFR Dimensions Table

)

HO0—ZB 2=y AT . £ |[BEE—XUF
Cl dT Uni ﬂ—S/fZ Weight Moment of inertia
osed Type, Unit ize e 10
35 033 0.0227
WPU- [1=] -CD 42 0.43 0.0565
50 061 0.113
63 11 0.343
80 02 118
LE
LF LH
LG L cY
Q
—1
S I
z EENEE
= I FINEE:
S Y S S| e
g:
LJ LM
LK
[mm]
%ﬁz e7‘ A | B | 1lc|w || LW |wK!|wWH|w. |  K|w]|N LU
35 49 | 55 | 31 | 425 | 25 | 23 | 05 | 2 5 | 148 | 17 | 6 | 35
42 56 | 62 | 38 | 495 | 265 | 245 | 05 | 2 5 | 163 | 17 | 10 | 35
50 64 | 70 | 45 | 58 | 207 | 277 | 05 | 2 5 | 188 | 17 | 12 | 35
63 79 | 85 | 58 | 73 | 371|341 | 05 | 3 | 55 | 236 | 26 | 18 | 35
80 | 104 | 112 | 78 | 96 | 43 | 40 1 3 | 55 [ 306 25 | 18 | 45
*’éfzex SA | SB | sc | sD | SE | SF | ¢y | cz | ™ ST sU
35 o5 | 12 | 11 11 17 4 1 38 | 10 M3 x 6 M3
42 27 | 14 | 11 15 | 2 5 1 45 8 M5 x 8 M3
50 34 | 18 | 16 | 20 | 26 | 52 | 15 | 53 8 M6 x 9 M3
63 42 | 24 | 20 | 24 | 30 | 63 | 15 | 66 8 M8 x 12 M3
80 57 | 32 | 30 | 32 | 40 | 86 | 2 86 | 10 M8 x 12 M4

# CY, CZ 134 — AREEHEETE T,

*Inner dimensions of CY, CZ are recommended dimensions.



HO0—ZB 2=y AT . B [EET-XUF
Cl dT Uni "j's’f7\ Weight Moment of inertia
osed lype, Unit ize kg X10kg?
35 046 0.0228
WPU- [1=] -CDH 42 0.63 0.0571
50 0.91 0113
63 16 0.344
80 30 1.18
LE
LG LF ®
Oring Lt 0-ring
=N
! p—
S
NG ws g|S|3ls
; Lf S
i
LJ LN
LK
LM HA X O-ring
Size A B
35 | 345 x 0.8 53
42 S40 S63
50 S48 S70
63 S60 sS85
80 S80 S115
[mm]
*géé( LA | B|LC || LE|LF ||| Wl WK|w|lWN| N/ LW
35 64 | 70 | 49 | 48 | 22 | 215 | 05 | 25 | 39 | 49 | 120 | 28 35
42 74 | 80 | 59 | 56 | 227 | 222 | 05 | 25 | 14 | 37 | 134| 28 | 8 | 35
50 84 | 90 | 69 | 64 | 268 | 245 | 23 | 25 | 43 | 48 | 163 | 28 | 8 | 35
63 | 102 | 110 | 84 | 80 | 315 | 204 | 21 35 | 55 | 185 | 34 | 10 | 45
80 | 132 | 142 | 110 | 106 | 37 | 342 | 28 | 3 | 25| 6 |205| 35| 10 | 55
'%égi SA | SB | SC | SD | SE | SF | cz | M ST su
35 42 130 | 11| 11| 17| 4 | 38 | 8 M3x5 | M3
42 50 | 3 | 11| 15 21| 5 | a5 | 10 M3x6 | M3
50 60 | 40 | 16 | 20 | 26 | 52 | 53 | 8 MAx7 | M3
63 73 | 52 | 20 | 24 | 30 | 63 | 66 | 8 M5x8 | M3
80 % | 70 | 30 | 32 | 40 | 86 | 86 | 8 M6 x 10 | M4

# CZ 3T — ARNEEHER~IETY .

*Inner dimensions of CZ are recommended dimensions.

FLEXWAVE WP>1—X

R
947D

Flat type D

e
Xl

| PAHE B

suoneoloads
/ 18POIA Jeonpay
i

S

a|qeL suoisuawig

UoIBWNSe 8yl

R EN A | () MEESh A

(Buleaq onse|3)

(Bulleaq urely)
uolewnse o)

(MaiEHY )

yeys indul
18 Peo| WNWIXe

RIS TOS

[T

——.
I i it

UOIBWIOUI JUBDLIGN|

Juswalinbal
2INIXI1} JUBWYOBNY
pil

anbuo] Bumiwsuel
—
<

suononJsul A\QLUGSSE
pue uone|elsu|
R

i Bk IR

& —VIFEaE

eleq sonslsloeiey)

78



79

Flat type D
~T3yE3ZFR Dimensions Table

A—TVE BBy NI4T
Open type, Simple unit

WPS-[1-[1-SD

S

LG

LE

LF

LH

ﬂ—Sg e7: Weiﬁwt ’]ﬁl%ﬁ_e‘t_nt of)i(ne/rtile:
kg x10*kgm?
85 0.31 0.0233
42 0.43 0.0578
50 0.54 0.114
63 0.93 0.347
80 2.0 1.20
0-ring

o
YUl =
E E = g N % E
aly ¥ s g|s 33
®
(‘\7
rm (‘o\)‘
K?‘
v Y BT
= .

Size O-ring

35 | 380 x 0.8

42 | 450 x 0.8

50 | 55.0 x 1.2

63 | 68.0 x 1.2

80 | 86.0 x 1.2

[mm]
4;;|42 e7‘ LA LB LC LD LE LF LG | LH LJ N LT
35 43 70 50 49 | 175 | 155 | 24 2 157 | 8 M3 x 4.5
42 50 80 61 50 | 185 | 165 | 3 2 169 | 12 M3 x 4.5
50 | 614 | 90 71 69 19 17 3 2 178 | 12 M3 x 4.5
63 76 | 110 | 88 84 o0 20 | 33 o | 216 | 12 M4 x 6
80 99 | 142 | 114 | 110 | 279 | 236 | 36 | 43 | 273 | 12 M5 x 8
%fzex sA | sB | sc | sF | cA | oy | cz | cv | cw | ™ sT | su

35 64 11 17 4 03 1 365 | 16 | 31 8 35 | M3
42 74 15 21 5 03 1 435 | 2 37 12 | 35 | M3
50 84 20 6 | 52 | 03 | 15 | 53 2 44 12 | 35 | M3
63 102 | 24 30 | 63 | 03 | 15 | 66 2 56 12 | a5 | M3
80 132 | 32 0 | 86 | 05 2 84 2 72 12 | 55 | M4

# CV. CW, CY. CZ (3 —AANEEHESEHE T,

*Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



A—T VB 2=y AT (FZeEh)

Open type, Unit (hollow shaft)

WPU- 1 -] -SDH

M-¢ST

LG

LH

LK

—lj—STL e7: Weiit 1&1)%;1 of)i(ne/rtile;
kg x10kgm?
55 0.49 0.0839
42 0.66 0.180
50 0.84 0.352
63 1.4 0.940
80 2.8 3.47

INPUT SHAFT FOR 35&42
[mm]
A% A | B | LC | D | LE|LF|LG|LH | L |[L|L]/|L/| L /LR
35 | 43 | 36 | 52 | 70 | 455 | 195 | 12 | 14 | 65 | 75 | 9 | 25 | 55 | 65
42 | 52 | 45 | 62 | 80 | 48 | 205 | 12 | 155 | 7 | 85 | 10 | 25 | 55 | 65
50 | 614 | 50 | 73 | 90 | 42 | 215| 5 | 155 | 7 | 85 | 105 | - ] ]
63 | 76 | 60 | 87 | 110 | 465 | 24 | 6 | 165 | 6 | 105 | 105 | - ] ]
80 | 99 | 75 | 114 | 142 | 55 | 286 | 7 | 194 | 75 | 119 | 12 | - ] ]
*7;@ Xl sa | sB | sc|sD|SE| S| M |ST sU N LT
35 | 64 | - | 14 | 20 | 74 | 36 | 8 | 35 M3 8 IM3x45 ¢35x55
42 74 - 19 25 84 45 12 3.5 M3 12 M3 x 45, ¢ 35x%x65
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 | M3xse 12 |M3x 45, ¢35x65
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 | M3xs6 12 | Max6 ¢45x85
80 | 132 | 48 | 41 | 54 | 147 | - | 12 | 55 | M3x6 12 | M5x8 ¢55x76

FLEXWAVE WP>1—X

R
947D

Flat type D

e
Xl

| PAHE B

suoneoloads
/ 18POIA Jeonpay
i

S

a|qeL suoisuawig

UoIBWNSe 8yl

R EN A | () MEESh A

(Buleaq onse|3)

(Bulleaq urely)
uolewnse o)

(MaiEHY )

yeys indul
18 Peo| WNWIXe

RIS TOS

[T

——.
I i it

UOIBWIOUI JUBDLIGN|

Juswalinbal
2INIXI1} JUBWYOBNY
pil

anbuo] Bumiwsuel
—
<

suononJsul A\QLUGSSE
pue uone|elsu|
R

i Bk IR

& —VIFEaE

eleq sonslsloeiey)

80



Flat type D [®&¥5+7D]

)

EoTE (SEMEERSE) Life estimation (Elastic bearing)

HEEZFamaTE

Life span for the elastic bearing

W Em Y-V

Operation cycle example

T, | |
&Er by | T, |
Working torque } T, ! T,
1 i)
| | Time
ny L N3
A EIER 21 &
Output rotation
spegd bt (%] Y ‘ =]
Time

OFHHA MILY - BEREA ML DOEH

Calculation formula for output torque

SEHEN LY

Average output torque Tao

Nm

. t1.|7‘1|3+n2. b 72|3+...+ N, tn.|7n|3
ot

Tao =3\/ n,

n,-t,+n2°t2"°nn n

=AHSD LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, o0 7;, O)EEij(ﬂE
Tmo = Largest among Ty, Ty, = T,

BAHA MLIDHFRERENUTTHE L& CHEREC 2E

Please make sure the peak output torque is below the maximum output torque in the specification table.

QFHANEERL - ZEEHADEEHROE S
Calculation formula for mput speed
5 ElEREL - Mt +n,tren, -ty
A nao | r/min nao=
Average output rotation speed ti+t,t et t,
= A [EERE nmo | r/min nmo =ny, n, -+ n, DERXE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
AN BIEREL - i - S — i
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
B A EEREL i i - — — rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R=ratio)

R ANRGEEIHARESANBGEHUAT THD L& THESLEW,

Please make sure the peak input speed value is below the maximum input speed in the specification table.

@?_"._:F H‘J'Fﬁﬁmn-l_ﬁ
Calculation formula for life span
B SR Jar \S | nar
Part life span for the elastic bearing Lie 2 Lhe = 7000 x Tao nai
TEM MILY Tar | Nm | EREROFFEER MY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed har r/min | 2000 r/min

81



R
947D

Flat type D

FEEOETE (XERSZE) Life estimation(Main bearing) ¢zt
5z &
aa =

33 o e <
ﬁj—t == /%rﬁn'l'%: Model selection / Life estimation -

B EEHSAR(VORO—785) Main bearing specification(Cross roller bearing) s ‘i

ORI
JAQEYFAR |47ty b8 | EABERFE | EABEREE | FRT XV | E—XV MK @
S —Z 44 z | Pitch circle diameter | Offset Basic dynamic |Basic static load| Allowable Moment g
S~ . of the bearing rollers load rating rating moment rigidity o
Series Size
Dm L C Co Mal Km
m m N N Nm x 10'Nm/rad o= %
35 0.0335 0.0090 5620 6540 36.5 7.35 Bob ﬁ
42 0.0410 0.0095 6340 8170 55.8 8.02 §§§ "
WPU-[1-J-CD| 50 0.0493 0.0105 10400 13300 91.0 13.5 333 %
63 0.0615 0.0128 15800 21100 156 27.7 %
80 0.0815 0.0130 24400 35600 313 66.0 sC =
)
&5 0.0505 0.0062 7110 10200 74.0 14.4 E_g_ ﬁf
42 0.0598 0.0066 10900 15200 124 19.7 2 ®
WPU-[]-[]-CDH 50 0.0708 0.0077 17200 24700 187 40.1 =3 3
63 0.0856 0.0092 25100 37400 258 71.5 Z
80 0.114 0.0106 43300 67600 580 188 EESDN
&5 0.0512 0.0111 8010 11400 37.0 8.86 93 %é
23
42 0.0614 0.0112 7370 10900 62 20.8 g g%
WPS-[-[-SD | 50 0.0715 0.0114 8030 12800 93 22.5 B 1:?}
63 0.0869 0.0128 14300 24500 129 33.3 £
80 0.113 0.0181 23700 42500 290 84.5 & /Ej
35 0.0512 0.0166 8010 11400 37.0 8.86 S
42 0.0614 0.0177 7370 10900 62 20.8 %
WPU-[1-1-SDH 50 0.0715 0.0179 8030 12800 93 22.5 §
63 0.0869 0.0213 14300 24500 129 33.3 : |
80 0.113 0.0257 23700 42500 290 84.5 35;5 ?:%
7| —== SE g
B N ERE A :
External load @
WPU- - [-CD WPU- (J-[1-CDH WPS- (- [J-SD WPU- [J- [1-SDH 5 g B
o I=E
L = f
L L 2 v
Lr L ] [ g 7
| 3 = ’
. } e
r £
£ °5 B
4 &p . I &5
i (a) g g 5o H
«© - L 53
- LFa 2
™~ C o g |
— 5 &
=7
5 %
g

FLEXWAVE WP>1—X 82



83

g

Flat type D

ADENDEERSTTE Maximum load at input shaft

BES AR (F—T VB 2=y A7) Bearing specification (Open type, Unit)

XF7Yvg A 7YV IB
Bearing A Bearing B
A gqz| BABERWE | EABERWE | EXABERWTE | EABESRTE a b
vl . A . Basic dynamic load | Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
C Co C Co
N N N N mm | mm
85 4000 2470 4000 2470 16.0 | 20.0
42 4300 2950 4300 2950 16.0 | 22.5
WPU-[J-[J-SDH | 50 4500 3450 4500 3450 14.5 | 18.0
63 4900 4350 4900 4350 155 | 21.8
80 8800 8500 6400 6200 17.0 | 285
RFYVTA —
Bearing A R7Uv4B
1 Bearing B
sp (s
N =

M AFARE (FHAHNEERE:2000r/min, F4skER 1 7000h0)

Maximum load (Average input rotation speed : 2000r/min, Life span

: 7000h)

WPU-[]-[1-SDH

=35

800

700

—1)

600

w50
—63

500

& Fr[N]

400

i

300

77 )Lq

AN

200

P

Radial load

100 4

100

200

300 400

7 ¥+ I)LfE Fa [N]

Axial load




R
947D

Flat type D

SEYBE lubricant information gata
5z &
> ? % I\
ERITY—ZA =
Grease B
o <
237w ZMP No.2 (F55EEBFI RS %t) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) 3 1
(FREESSHE:0~40°C (BAHEEE) Operating temperature range:0-40°C(ambient temperature) § =
oy
V-8
Grease application — =
N — S S rgﬂg &
PUFDBY . BEEE R EIC T —R 2B H L TLIZEW, Please apply grease according to the table below. 28 ¥
o3
S 3 = . . o= =
W JV—XBHE Grease application 25 &
e
- BWMEARCIEOBRREORMGZZ (BARIA RS, LRSS THE) ICLVBRHEZEEREL TIZEL, ?
(FV=2ZHANEHDAIZY bIATIE.CHERAE) DT -ZABAFREINTVET,) ¢ = |
RN LM E TEEDBEEANIASSY ~T—RAAEEICERDS0% DT —REFRELTLIEE L, So @
= ABEFHCEV T ZHRET DA EHETEMOEhEEEL, gl i &
-The quantity of grease applied to C should EFERT Applied part €s %
be adjusted depending on the mounting H4 X C C C =
direction. | Size | A B | (@) | (kA=) | (FA%)| D -
C of the unit type product is already Horizontal | Vertical up | Vertical down 3% A
f|lle_d with the same quantity of grease as 35 0.2 0.2 3 4 5 0.2 5.'5' gjm
horizontal mounting. 25 &
-For vertical up/down, 50% of the space 42 0.3 03 S 6 ’ 03 *5
between input assy and casing inner wall 50 0.4 0.4 8 9 11 0.4 E B
should be filled with grease. o 63 08 0.8 16 19 21 0.8 %I
-If the amount of grease is not sufficient
due to case design, please contact us. 80 15 1.5 36 42 48 1.5 £ M
N . z B
B J)—RBHER Grease application location 2
| WPC-0-0-CD | | WPU-0-0-CD | e
y—2 2 EREIDS0%ETHE s
Casin ZERID50%% FEiE ) -
7 Fill 50% of the gap in volume Pre-applied gZ M
D e HA%# i s
‘ TRE 3z 18
y : lill P Vertical 2 E
‘ ‘ ‘ down £
L AJIASSY [ A ASSY AB ‘
input section assembly [input section assembly ] —
5 1B
t@E 3 =
— Vertical 2 )'1:
AE? U =}
= P 2
Ak 3
Horizontal =2\ \ZED50%% 758 &
| WPU-0J-CJ-CDH | | WPS-0J-0J-SD | Bz x|
TR EOS0%ET FR  REOSONETE s B
) §§ 2
HAEH ; ‘ =
"/ ﬁ 5
1 L) L 1 l! @ L
228550 35 g T
& ¥
il I T —T B |
u / | | g %
i [ 8

—2Z \ZEBD50%% FEiE o

FLEXWAVE WP>1—X 84




Flat type D
ENTREE  Attachment fixture requirement

B BB Attachment fixture requirement

| WPC-[J-0-CD | | WPU-CJ-0-CD |
IR 1=
.
%g — e Ver >N
. THAL s
§ 7-} éo— ¥ I b
o - J PR AN 1 =
3 b Shaft —| |— v éﬁf
- § igal 28 |
£ —
sl § —
ERD - %’,3
x| !
EfHEE [mm] B E [mm]
-bL./f A 5 42 50 63 80 -'j-./{ A €8 42 50 63 80
Size Size
a 0.015 0.015 0.018 0.018 0.023 a 0.020 0.020 0.020 0.025 0.025
b 0.010 0.012 0.014 0.016 0.020 b 0.012 0.012 0.014 0.016 0.016
© 0.013 | 0.013 | 0.015 | 0.018 0.020 © 0.016 | 0.020 | 0.024 | 0.024 | 0.024
d 0.015 | 0.015 0.018 | 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
WPU-[]-(]-CDH | [ wPS-O0-00-SD |
IR
:
Y x T
=2 o | "
- (A Ty b —2
% I I % '@! 7 e
EREENE s e

HRAZHE
HRAZHT
e 38

v b
of— R < J v
H 4
% : 4 &
w
Y |

% 7/ %

EHEE [mm] EHEE [mm]
PAZ | 35 42 50 63 80 YAZX1 35 42 50 63 80
Size Size
a | 0020 | 0.020 | 0.020 | 0.025 | 0.025 a | 0020|0020 | 0.020 | 0.025 | 0.025

b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 0.020 | 0.020 | 0.020 | 0.025 | 0.025

© 0.016 | 0.020 | 0.024 | 0.024 | 0.024 0.020 | 0.020 | 0.020 | 0.025 | 0.025

0.012 | 0.012 | 0.014 | 0.016 | 0.016

D Q0 |T

0.016 | 0.020 | 0.024 | 0.024 | 0.024

85



R
947D

Flat type D

—_ .
(EERILYD  Transmitting Torque 27
%é ﬁ;@%
sz =
. . R 3§ T
AILRERS RO MLIETROBYTY, -
Bolting Please refer to the table below for the bolt tightening torque.
il
N > s‘f
NJL I‘lﬁﬂ# I‘)[/7 z /iE
Tightening torque for bolts o
RILFHA X [Bolt size M3 | M4 | M5 | M6 | M8 | M10 s
#B4+ hJLo [Nm] [Tightening torque| 1.9 4.3 8.7 15 36 71
HEFRLL @ BEXS 129 Ll E s &
Recommended bolt : Strength rating above 12.9 %% gﬂn
g #H
(TEPNILY (YO—ZB. 2=y 947) (L
Bolt specifications and Transmitting torque (Closed type, Unit) u
HA7 2V VS (WPU-O-0-CD) Output flange attachment 2C = |
DO A
HA X Size S5 42 50 63 80 28 E”_T_
KILFHA X |Bolisize M3 M5 M6 M8 M8 i3 &
AL A Bolt count 10 8 8 8 10 es 3
Bft PCD  [mm] |Bolt PCD 25 27 34 42 57 ]
#EE bJLo [Nm] [Tightening torque 1.9 8.7 15 36 36 L
{=Z r LY [Nm] |[Transmitting torque 58 141 252 566 960 32 A
A VA FILEVESN (WPU-CI-C1-CD) Internal gear attachment 53 g%
H4 X Size 35 42 50 63 80 s B
FILFFA X [Boltsize M3 M3 M3 M3 M4 g
L b A Bolt count 6 10 12 18 18 —
Btft PCD [mm] |Bolt PCD 49 56 64 79 104 = &
#4 kL4 [Nm] |Tightening torque 1.9 1.9 1.9 1.9 4.3 R
{=E ~JLY [Nm] |Transmitting torque 68 130 178 330 757 El
3
Hh7o v B (WPU-O-C-CDH)  Output flange attachment S
H4 X Size 35 42 50 63 80 3z I
RIL b A X Bolt size M3 M3 M4 M5 M6 28
RIL b A% Bolt count 8 10 8 8 8 5:
Ef PCD  [mm] |Bolt PCD 42 50 60 73 96 22
4 bJLS [Nm] |Tightening torque 1.9 1.9 43 8.7 15 E’
{=Z FJLS [Nm] |Transmitting torque 78 116 194 382 713 e
. F =
A V5 FILFVYEAS (WPU-C-CJ-CDH) Internal gear attachment g ,%
Y4 X Size 35 42 50 63 80 E
RILFY A4 X [Boltsize M3 M3 M3 M4 M5 g7
AL b AR Bolt count 6 8 8 10 10 g
st PCD  [mm] |Bolt PCD 64 74 84 102 132 ®
#4 bJLS [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 82 X
{=2E bJLY [Nm] |Transmitting torque 89 137 156 412 864 %f:) g
S =®
A2 B ILFYEf 23
{Intema\ gear attachment 5
1 B FILEVEM 5 *
Internal gear attachment 3 "E
LHo 5 S & F
Output flange attachment . / z |
HhH 75 At g %
Output flange attachment g

FLEXWAVE WP>1—X 86



)

Flat type D
{=ZENILY  Transmitting Torque

(EENLY (YO—ZB aVvERY R 4F)

Bolt specifications and Transmitting torque (Closed type, Component)

7Ly AFVEUT  Flex gear attachment

T4 X Size 5 42 50 63 80
AL A4 X Bolt size M3 M4 M4 M5 M6
NIV M AEK Bolt count 8 8 8 8 10
Bt PCD [mm] |Bolt PCD 17 19.5 24 30 41
¥+ k)L 4 [Nm] |Tightening torque 1.9 4.3 4.3 8.7 15
{mZ FJLS [Nm] |Transmitting torque 32 63 78 157 380
AV HFILEVEST  Internal gear attachment

PP Size 5 42 50 63 80
AL A X Bolt size M3 M3 M3 M3 M4
RIL b ASK Bolt count 6 8 12 12 12
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
54+ F L2 [Nm] [Tightening torque 1.9 1.9 1.9 1.9 4.3
{=Z rJLY [Nm] [Transmitting torque 61 100 172 209 485

42" FIL R Ef
Internal gear attachment \

r B
e

[ [

!
!

JL w4 R X vEf | —

Flex gear attachment

[

(TZERNLY (-7 vm)

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT  Flex gear attachment

T4 X Size 5 42 50 63 80

AL AX Bolt size M3 M3 M3 M4 M5

IV bAEL Bolt count 8 12 12 12 12

Bt PCD [mml] |Bolt PCD 64 74 84 102 132
4 bJLS [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

{=Z FJLS [Nm] |Transmitting torque 119 206 234 495 1037
AV FILEVEST  Internal gear attachment

PP Size 5 42 50 63 80

AL A X Bolt size M3 M3 M3 M4 M5

RIL S AREL Bolt count 8 12 12 12 12

Bt PCD [mm] |Bolt PCD 43 52 61.4 76 99

#E4+ R Lo [Nm]|Tightening torque 1.9 1.9 1.9 4.3 8.7

{=2E bJLY [Nm] |Transmitting torque 80 145 171 369 778

2Ly g X EFVEA

. . Flex gear attachment N
JLy v 2AXVEAM _FH—— —_F— 4L B

Flex gear attachment [ f 42 2L FVEM qp
° _g Internal gear attachment o Internal gear attachment
[

AN

—d

87



SERERIR Installation and assembly instructions

AS - H A K (wpe-0-0-c0)

Shaft installation instruction

ADEh - BOEX BHCVERT DOV TV IRME - TE P IR EZR (TR OBEL L TIZEW,
(TRIZSZEH)
ALICIEBREARARDODRASAMTENMERLET . A LD BB EICEID7EWNE D BEEL TS,
Please design the support structure for input shaft and output shaft so that both radial and axial loads are

supported. (Diagram below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

Pk ]

Output shaft 1 = ASEH
L{ :Dj_t(]: ﬂ Input shaft
O— ]

D
e

S { o=

$5 LIERR

Warm-up run

HISTETR BRENTCEER T IRTIC RO LEBERZEZEML TS,

M RFICEMLIET YR EBEEOERE2AICRLEEDILT,
BREEMNTIRET U BEREDONERNALREL, THBMEREERIET LN TEEY,

(725 LEErDSAEHi]
‘B EEW

- ASIEIEREL 1,000r/min L FOAARENLDoUEIESE, 3,000r/min EFTEESED
- 3B L FF 1RFERE
-HAEEAE BHOKRESKTD
After assembly, “Warm-up run” is necessary before run with load / torque.
The purpose is that, Flex gear & Internal gear surface to be coated with grease evenly,
in order to meet the enough performance with load / torque.
[Condition example]
-Load No load
-Input rotation speed  Start slowly from 1,000r/min or less, then accelerated and reached to 3,000r/min
-Test time About 1 hour
-Output rotation Angle As large as possible

FLEXWAVE WP>1U—-X

R
947D

Flat type D

suoneoloads
/ [opo 18onpay

(Bulleaq urely) (Buleaq onse|3)

Yeys 1nduy
1B PEO| WNWIXe

Juswalinbal
2INIXI1} JUBWYOBNY

uononysul Alquiasse

8|ge| suoisuswi(

uonewNsSe o)

FED A | (deEmE ) SR Eh

uonewNsSe o)

uolew.IoUl JUBDLIgN|

onbuo) Bunywsuesy

pue uonejesu]

ele saolnsueloeiey)

88

S
/ B4R

S S

(MAEHY)

IS

3
7

[T

~oesee
TR #a

3

3 &7 RN

& — MR




)

Flat type D
BrMET—4 Characteristics Data

——

AEGERE

Transmission Angular Accuracy

1.0
AEEERELIT
EEHCANBERGES U BANEHR ED £ 05 REGRERE
HIN R f & ERR OHI N EEE B 3= 5 s
. . ok — 0.0 Il M“,I\\‘H“]ll\I“ml““\‘l‘mlu T ey e AR
What is Transmission Angular Accuracy? w S T il (i ""Il[ m“””m”m l””l”””ll'l”""
It is the difference between the measured output %’i%
rotation angle and the theoretical angle, while % -0.5 =N
input shaft is rotated with no load. o
10, 90 180 270 360
H hEhEI AR A B ()
Output shaft rotation angle (deg)
[arc min]
. P4 X
BOE Size
Ratic ™35 T 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
MROEFSEETT,
Table values are reference values.
EXFUVAOXRX
Hysteresis Loss
EXFULRORER et
ADEEEE L THEAEIC ML ED TGS r
DEAMLIREORENAEDZE EXTYULZAR
) ) Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 1V > KLY
fixed, there is residual twisting angle when Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4 X
B EE Size

Ratio ™35 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

80 1.5 1.5 1.0 1.0 1.0

100 1.5 1.5 1.0 1.0 1.0

120 - 1.5 1.0 1.0 1.0
HERDEFSEETT.

Table values are reference values.

89



R
947D

Flat type D

28 LB
8 S BkR
go  pE
aa =
= N - >, B e
BRANVIZUVE
Maximum Backlash [arc sec] |
: 2
S —_— ~ NN -U-/r X @ ‘\f
1T NAVA A A% faF: S e : £
N o R Rati 3
ADEDRTS4 V94 T DHEDHDEIDHS Aol 35 42 50 63 80 ;
(BEDMEHEWNERD/ N5y (E 0 Db Uy K54 50 27 27 18 16 16 &
TTIINNyISyo(d 0 ERUET,) 80 17 17 11 10 10
What is Maximum Backlash? —~C B
| . | 100 | 13 | 13 9 8 8 o5 7T
In this context, maximum backlash is the output 120 11 7 2 7 29 gJﬂr
backlash for spline type input shaft. (Backlash is - %2 i
zero for rigid type input, because gear engagement §§ ;ij
backlash is zero.) < E
22 % |
So
g5 &
Bl (vo—XB 2=y b 94 7F) K1 ML 0 ~ T, DIERESH EE
. . Spring coefficient at 0 ~ T, torque =~ %
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DI e Z
Spring coefficient at Ty ~ T, torque -
Rt & & K3+ b LoD T, ~ Dl EENE
. . Spring coefficient at T, ~ torque SX f
AHBIZEELTHEDAIC ML EMNT B EDIE 22 %
REHERLNE S — g %
What is Stiffness? K, ; B fi}‘
In this context, stiffness is the output shaft twisting © : £
angle and the spring coefficient, while torque load & g X i s g |
is applied to the output shaft with input side fixed. f o ' 2 8
= Ki i i = Al
g ; 5 g
| ! 3
0 ' : )
T oamy 1
Load torque g§ ;I_%
23 ;Ej
o _ e N iz E
‘/EEEJZIS B ifi Size E
Ratio item unit 35 49 50 63 30 3
= T Nm 2 3.9 7 14 29 N D
- i Nm 6.9 12 25 48 108 ¥
K, x 10°Nm/rad 0.39 0.66 1.1 22 46 % »
K, x 10*Nm/rad 0.47 0.75 1.4 2.6 5.1 g
50 Ks x 10*°Nm/rad 0.52 0.82 1.4 2.7 5.6 |
0, arcmin 17 2.0 2.2 2.2 2.2 i g
6, arcmin 5.0 55 6.3 6.4 7.2 <3 -
Ky x 10°Nm/rad 0.44 0.86 1.6 2.9 6.2 %3
80 K, x 10*Nm/rad 0.60 1.0 1.9 3.2 6.5
100 Ks x 10*Nm/rad 0.72 1.0 1.9 3.1 6.5 2 g
120 0, arcmin 16 16 15 17 16 g 7
6, arcmin 4.0 4.1 4.6 5.2 5.7 2 5
HEOEETHETT, g

Average value shown in the table.

FLEXWAVE WP>1—X 90



L

Flat type D
BrMET—4 Characteristics Data

BHBEIMNLY Un—2B 1=y 547F) [eNm]
Starting Torque (Closed type, Unit) SRR ﬁséel
Ratio
S 42 50 63 80
v L

tijjl\} \7(‘:__(1 . _ 50 7.0 11 14 17 26
]\j]{ﬂ”h‘b@if\éﬁé%é(:\ ]\jj{ﬁ”ﬁ‘@if\é 80 6.8 9.5 13 24 26
DD LY 100 6.4 | 9.4 11 14 20
(mafr ABEERE: 25°C) 120 - 8.1 9.3 14 20
What is Starting Torque? M FERAREFICLIVENERRUEFTOT, BEETT,
Input torque needed for input side to start 2 ATMAA A Iy — LR —IART Y v T EDREREHT
rotating (no load, ambient temperature : 25°C) CLBEBEIEINTVLEEA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

BESHARE LY )
Output Starting Torque(Closed type, Unit) /Ratio oz

35 42 50 63 80
iéiiﬂﬁ ML &I 50 1.2 3.6 4.4 5.8 13
HARDSEES T A BAC HhRrEEE o 10 89 72 L 18 | 26
meHD LY 120 - 42 | 8.1 10 30

\aH. AERE 25° \
(REF. AERE :25°C) 1 AR LU ENRA U ET 0T, SEETT,

What is Output Starting TOI’QUG? W2 ANBIAA IS —IILDR— IR T Y ¥ S EEniEHT
Output torque needed for output side to start ICEBEBISINTUVEIEA,
rotating (no load, ambient temperature : 25°C) *1 For reference only. Torque value may vary depending

on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[cNm]
= N
maf s, | ANEE gAX
=)= > . nput rotation
7 /_‘?]7 NILD Ratio speed 35 42 50 63 80
— 7 F —_ °
(vn Zi*?—/"g’ﬁ) 500r/min | 34 | 75 | 92 | 17 | 35
?‘é’lgggg S/Léf‘e“'g%gorque go | 1000r/min | 43 | 8.2 11 18 37
i 2000r/min 5.0 8.5 13 18 39
%Eﬁay:yg“ LA EIZ 3500r/min 5.4 11 14 22 38
EEE CEESEE0ICBEA 500r/min 3.2 7.6 10 20 35
}C;;{EIJUN‘”/7 80 1000r/min | 4.0 8.7 12 21 38
(»?i/;ﬂrg EERE : 25C) 2000r/min | 4.8 8.9 14 22 39
N . 3500r/mi 5.2 11 14 24 38
What is No-load Running Torque? T ;/nmn 3.2 - > Y 36
Input torque needed to keep it rmnlw : :
running with no load (average 100 1000r/min | 4.0 8.2 13 23 39
value, ambient temperature : 25°C) 2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
120 1000r/min - 8.1 12 24 41
2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

A FERAFFICLVENELY FTDT, 2EETT,

M2 ATMAA AN —IPR—IUART v TEORERIIC L 2HEFE
INTWFELEA

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

91



R
947D

Flat type D

L3 L
8 S BkR
ge B
5z #
? S =
K (YO0—RB 1=y h5(7) -
Efficiency (Closed type, Unit) |
g
3 i
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by 2 ®
- . o allowable average torque. 2,
BAHEE : 25°C -Ambient temperature : 25°C %
. .= |l = *1 These diagrams represent the average value of the
P | — N7 5 ~ 9,
>.<1 777(;%@7\_ go?$¢ﬁ{lﬁ—€zl L _ actual measurement. S
W2 ADPA AN —IWXRR—NART YV TEDERR 5 Charts does not show effects due to rotation ks
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28
23

WPU-35-50

(Bulleaq urely)
uolewnsa o)

(et ) SIRDPEDM | (R ) SREEEb A

WPU-35-80 sz A |

100 100 o2 &
@ 500 r/min e 500 r/min %g g)
90 [ e 1000 r/min 90 [ e 1000 r/min g Ef\
e 2000 r/min e 2000 r/min 2 T
- 80 { e 3500 r/min = 80 M« 3500 r/min g
@ 70 3 70 B
2 ) g foj
5 60 — T 60 : A&
& 50 8 50 g
3
M o4 # 40 2
30 30 |
sz EH
20 20 £8 4
[} y=
10 10 g% Ig
0 20 40 60 80 100 0 20 40 60 80 100 =207
& [%] Percentile Load & [%] Percentile Load s
5 I
g =
WPU-35-100 z P
Y/
100 g
e 500 r/min &
90 [ = 1000 r/min
e 2000 r/min o= o
_ 80 | == 3500 r/min 23 £
o g2 =
3 70 2z %
;2 / 57; IE
i 60 232
£ 50 ///_ 5
# 40 ////
30 85
g
[7]
20 5 ¥4
10 g
0 20 40 60 80 100 =
& [%] Percentile Load
FLEXWAVE WP>U—-X 92



93

L

Flat type D
BrMEST—4 Characteristics Data

PR (YO0—REB, 1=y h ()

Efficiency (Closed type, Unit)

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

BE (%]  BENLY | EREKRNLY
BAEEE : 25°C
#1573 ERF—yDFEHETT,

M2 AFEIA ALY —IILPR—=ILR T v T E D EER
EHICLDEEIESINTOETA,

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min s 2000 r/min
. 80 e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
= & //
I 60 U 60 /
= 50 = 50
# 40 # 40
30 / 30 /
20 20 ¢
/7
10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ e 3500 r/min
5 70 B 70 —
9o o
= L — = //
60 //’ w60 / —
§ 50 //_— § 50
# 40 //// B 40 /
= y /2 =
30 30
20 20 4
10 10
100 0 20 40 60 80 100

20 40 60 80
& [%] Percentile Load

&7 [%] Percentile Load



R
947D

Flat type D

S & KRR
ge B
5z #
a2 =
-1 Z7 > —_— o [} -
IR (YO0—RB 1=y + 54 T) -
Efficiency (Closed type, Unit) |
g =f
3 %
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by 2 =
allowable average torque. @
N=| . o 5
FEEE : 25°C -Ambient temperature : 25°C %
. . NN *1 These diagrams represent the average value of the
157 RER T — S DFEHETT, g 9
K2 ADBRA AN —LOR—NAT VY TEDEER 5 Charts does not show effects due to rotation s &
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
S5 H
I
L
55 7%
=} g Elﬂ
O = =
ag -
- ==
i@
WPU-50-50 WPU-50-80 s= A |
T
EX 7
100 100 o2 &
23 M
e 500 r/min @ 500 r/min -5 Ed
90 [ e 1000 r/min 90 [ e 1000 r/min g8 &l
e 2000 r/min e 2000 r/min 2 T
_ 80 { === 3500 r/min _ 80 [| == 3500 /min g
O (&)
5 70 — & 70 —
z _—— . —— ]
i 60 ///// i 60 / g %Ell]j
S 50 & 50 2
3
M M 2
= 40 = 40 5
30 7 30 [
7 iz m
20 20 8
10 10 33 Jﬁ
0 20 40 60 80 100 0 20 40 60 80 100 3§ -
& [%] Percentile Load & [%] Percentile Load %
5 =
% P
WPU-50-100 WPU-50-120 E )][:
«Q
100 100 g 7
e 500 r/min e 500 r/min 5
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min T o T
~. 80 [ === 3500 r/min ~, 80 [ === 3500 r/min 23 IE
&) o e =
5 70 & 70 — g2
k3] © /é =S &/
S 50 = 50 -
& Y & Y 2 %
30 30 % 7I_—
20 —¥# 20 z2 4
7]
10 10 g
0 20 40 60 80 100 0 20 40 60 80 100 =

B [%] Percentile Load &7 [%] Percentile Load

FLEXWAVE WP>1—X 94



95

i

Flat type D
BrMEST—4 Characteristics Data

K (YO0—RB 1=y h5(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 e 3500 r/min
2 2
2 70 o 70
© ©
o 60 U 60
= 50 = 50
M 40 // # 40
EX EX

30 /// \ 30
20 / 20

10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load & [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ e 3500 r/min
3 70 G 70 —
= = P
L 60 L 60 //
= 50 = 50
# 40 # 40 //
EX EN
30 / 30
20 20 Y4
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B [%] Percentile Load &7 [%] Percentile Load



R
947D

Flat type D

23 18
8 S
58
=z piall
S0 =
» T
P Mk > — o @ -
EACInES ¢ IN= =) SR ) -
Efficiency (Closed type, Unit) |
g =r
3 i
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by 2 =
allowable average torque. @
N=| . o 5
FRERE : 25°C -Ambient temperature : 25°C %
. < NN *1 These diagrams represent the average value of the
1 SRR TS DFHETT, g d
H2 ANAANL —LDR—ANTYYTFEDEE <5 Charts does not show effects due to rotation ks 7
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
S5 H
CH
%
=
55 7
=} g Elﬂ
O = =
1R
38 —
- ==
EE
=
WPU-80-50 WPU-80-80 s= A |
T
EX 5
100 100 S22 Hh
23 M
@ 500 r/min e 500 r/min -5 ;¢
90 [ e 1000 r/min 90 [ e 1000 r/min g ar
e 2000 r/min e 2000 r/min 2 T
_ 80 [ == 3500 r/min _ 80 H = 3500 r/min g
2 2
o 70 o 70 — —
2 £ g foj
i 60 i 60 % #
& 50 £ 50 / 2
3
M o4 H o4 2
= &= //' 5
30 30 [
/ iz W
20 20 S8 ft
33 f5
10 10 82 E
0 20 40 60 80 100 0 20 40 60 80 100 "=
& [%] Percentile Load & [%] Percentile Load <
F =
g =
WPU-80-100 WPU-80-120 E )][:
«Q
100 100 g 7
e 500 r/min e 500 r/min 5
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min T o T
_ 80 3500 r/min ~. 80 [ e 3500 r/min 23 £
2 2 3£ =
o 70 o 70 g FH
S 2 S m®\
D 60 D 60 23
— — S
X 50 S 50 S
%‘ 4 M‘ 4 /
& Y & .
30 30 g =
/ g 7
= |
[7]
20 20 5 ¥4
10 10 g
0 20 40 60 80 100 0 20 40 60 80 100 =

B [%] Percentile Load &7 [%] Percentile Load

FLEXWAVE WP>1—X 96



97

Gearhead type

SRR Reducer Model Nomenclature

FrAYRI1 T

WP

G

35

90

CR

8AA5

V-4

Series name
WPJ—X

WP Series

OEXK Availability

Ratio matrix

547

type

G: ¥ ko7

Gearhead type

Sy 722 50 | 80 | 100 | 120 | 160
[2]
o[ 3
s a2
L
50
63
80

B ERME -4k Reducer Specifications

B4 X

Size
35
42
50
63
80

B LE

Ratio
50
80

100

120

160

a—Fk
Code

I9vha-F*

Mount code

M1 ROV PI—REERAE—FICE>TREVET B R — LA_—Y LR EETE Y —

NS THERTEEY . CARLHEEBMLEHELEL,

*1 Mount code varies depending on the motor selection. Please refer to the
'‘Reducer Selection Tool' found on our website for further details, or alternatively

please contact us for more information.

3 ¥ 4 %5 6
HFAEE AR AT RS AR
| s NILY NILY AN B AN EE AR
"j',’f A | 'Ratio | Nominal output | Maximum output Nominal Maximum input Lif
Size R torque torque input speed speed e
[Nm] [Nm] [r/min] [r/min] [hours]
50 7 23
85 80 10 30 3000 8500
100 10 36
50 21 44
22 29 = 25 3000 7300
120 31 70
50 33 73
80 44 96
50 100 52 107 3000 6500
120 52 113
160 52 120 10000
50 51 127
80 82 178
63 100 87 204 3000 5600
120 87 217
160 87 229
50 99 281
80 153 395
80 100 178 433 3000 4800
120 178 459
160 178 484

3¢ 2 ASEEREL 2000r/min OFFICHART 2 RAME
3 3 EE) - (FULRICHA Y DRAME

¥ 4 BEARICHAT 2 TPHANEGERORAE
5 EEAICHAR Y D AN REHOKRAE

3 6 A EEREL 2000r/min, FFAFEH ML BB OFHERE

*2 The maximum allowable value at the input rotation speed of 2000r/min
*3 The maximum torque when starting and stopping.
*4 The maximum average input speed.
*5 The maximum input speed.

*6 The life time at the input rotation speed of 2000 r/min and nominal output torque.



~FyEZFR Dimensions Table

i~y Ry~
Gearhead Type A2 F IV EESS

Internal gear attachment ~ =—1—

__J]I_]

HHT7 SIS

Output flange
attachment

\
L%J
\

\

\

\
|
\

[ |-

@, FEZE1E Precautions
HAT SV IEBAEBEGREEZRUMITRERIEAMBNOO) VT EER., FEBHICTT ) —RRNI K
ZERBLTLIEEL,

When attaching equipment parts to the output flange, use the supplied O-rings or implement your own grease
leakage prevention measures.

— A FESOEECEBAN NS VWG E(EVEBRRERITAIRMEDLH DI CEREHER LS,

Continuous operation in one direction or small oscillation angle may cause lubrication failure.

WPG-35- (] -CR-8 [J (ASL#ZE= 8)

(Input shaft diameter = 8)

81.5 [x1)
21 545 (1)
35 14 25 155 (% 1) L-MLX 9 (¥ 1)

0-ring
@29%x 905 52 (1)

g

|
)
g

T D s
ﬂf‘i

\

1

O
A
5/,

Al
~ 4
J

~
)

®173
®56 h1
®31
oyl
LIt g
B30(GT) [x1)
Va
U\
&
L
T

5 (1) [ #8(G7) [ 1)
95 32 1) PLE (% 1)

#1 EROTHEREETT RN E—2I1C &> THEREELET.

*1 The length depends on the motor.

FLEXWAVE WP>1—X

FrAvR
917

Gearhead
type

TAF
1 PHRE R

suoneayoads
/ 1I9POIN J2onpay

S

s|qeL suoisuawiq

uonewnse aj

)
)

Juonewiojul Jueouan| | /(Bulieeq onse|3) UoBWIISS 8jIT

(W ) SRR S i
) SIS A

[ (M

(Buleaq urey

anbJo| Bunjwsuel|
i

=TT/ 2

98



Gearhead type
~FyE3R Dimensions Table

WPG-42- [1-CR-8 [J (ASX#ZE= 8)

(Input shaft diameter = 8)

215° 30°

6-M5x10

84.5 (% 1)
29 55.5 (% 1)
0-ring L 14 26 155 (% 1)
B3L5% 0.8
— 2
i Ay
== B
-
- r
- T s ¥
SIS m | =
s| Ble|2 ] ) | &)
A=) 1 =1
4 =
T E - s
— i
M
J
5 (%1)
9.5 32 (%)
<

1 EROTASREETT R -5 &> THEREELET.

K2 EBEDEBLEIRGDIHENDHVET,

3 R IIADRIL FDT=OEU M FICIFEELEE A

*1 The length depends on the motor.
*2 The actual placement may differ.

*3 These bolts are for reducer assembly purposes and do not affect installation.

WPG-42- [1-CR-14 [ (8< AN#AE= 14)

(8<Input shaft diameter = 14)

89.5 [#1)

L-MLX 9 ¥ 1)

52 (1)

=
N

X
B>

|

#8(GT) (= 1)

PL6 (%)

L-M5x 11 (% 1)

65 (% 1)

=

1 LD RIRKRETT RN E—FICL > THAFEIELET

K2 REDEEBLIRGDIHGENDYET,

K3 ORI ADORIL DO ITICIEHELEEA.

*1 The length depends on the motor.
*2 The actual placement may differ.

29 60.5 (% 1)
0-ring 4 14 30 16.5 (% 1)
$345%X ¢0.8
~
3
1 h=3
| I ey 1
N |
= 5(1) =
~ ~ ] k3
i I N =
S g iy g I o
S
B e 2
— -
S (1)
9.5 35 [x 1)
<=

*3 These bolts are for reducer assembly purposes and do not affect installation.

99

N

B1L(GT) (1)

P70 (1)




WPG-50- (1 -CR-8 [J (ASX#ZE= 8)

(Input shaft diameter = 8)

87 (%)

L-MLx 9 (1)

352 (% 1)

o 22 co 28 59 (%1
225 25 0-ring
640 6L 2114 5 16 215 15.5 (%1
8-M6x 10
J
2
— ( —l <
1 i
- - | 5 (%)
NN o
A=Y A=y 1

|
-

¥
)

|| -

5 (% 1)

9 32 (% 1)

#1 EHOTEIRKETYT S E—ZICE 2 THEREELET,
2 EEDEEBELIZERLDHENHUET,

3 R IIADRILFDT=OBUMFICIFHELEE A

*1 The length depends on the motor.

*2 The actual placement may differ.
*3 These bolts are for reducer assembly purposes and do not affect installation.

WPG-50- (1 -CR-14 [J (8< A #hE= 14)

(8<Input shaft diameter = 14)

®30 (G7) (% 1)
Va
[\

N

\

¢8 (G7) (1)

L6 (3)

L-M5X 11 (% 1)

-

065 (1)

)
2.

®50{G7) (1)

o
(@
2

92 (1)
¥ ° 28 6l (% 1)
n° 25 O-ring
BLO.64X D114 5 16 315 16.5 (%1
8-M6x 10
] 2
T — |
- 1
H 5 (% 1
- - | (1)
m| | w:n| T _l
o~ T o
sl e gI H
L M
il ]
5 {x1)
Lo 35 (% 1)

#1 EHOTEIRKRETY . S E—ZICE o THERELET,

K2 EBEDOERBLIIELDIGENHVET,

3 BRI AORIL DO MFIFICIEFELEEA,

*1 The length depends on the motor.

*2 The actual placement may differ.

*3 These bolts are for reducer assembly purposes and do not affect installation.

214(G7) (% 1)

P70 (1)

FLEXWAVE WP>1—X

FrAvR
917

Gearhead
type

T
| SHEE b

suoneolyloadsg
/ I9PO J8onpay

S

s|qeL suoisuawiq

SR ED
JOdEmR ) SRELSHA

(Bueaq urepy) uonewse o)
(MY )

e
b1

=

~z-
= IR H

Juonewiojul Jueouan| | /(Bulieeq onse|3) UoBWIISS 8jIT

anbJo| Bunjwsuel|

b it

100



Gearhead type
~FyE3R Dimensions Table

WPG-63- [1-CR-14 [] (8< AH&hE = 14)

(8<Input shaft diameter = 14)

100 (1)
36 6L (1)

O-ring
16.5 (1
©$53.29x $0.99 > 1 315 =1

L-M5X 11 (% 1)

-

65 (1)

: .
i

i : o
i 51 T f A
s|=2lg| Z = = ’
:I e \
A\ == puls

H e

5 % 1) @1L{G7) {* 1)

L2 35 (1) 270 (% 1)

#1 ERDOTEIRERETT . MM E—FICL o TTEIIEALET,
2 REDEBLEIRRDIHENHVET,

3 BUEBHEI A DORIL DO FICIEHELEE A

*1 The length depends on the motor.

*2 The actual placement may differ.
*3 These bolts are for reducer assembly purposes and do not affect installation.

WPG-63- [1 -CR-19 [ (14< AD#E= 19)

(14<Input shaft diameter = 19)

109 [ 1) L-M6x 13 [x 1)
36 73 (1)

O-ring
25 (%1 80 (1
#5329% 3099 5 16 32 (1) 0180 (1)

.

=
o
R

11 =

N
7/

3107
986 17
920 H1
IR
jpunm.
I |
]
$70(67) (% 1
[
\
\ \

\

6 (x1) $19(G7) (1)

12| 50 (% 1) #90 (% 1) J

#1 ERMOTEIRKRETY . S E—ZICE o THEREELET,
W2 EBEDERBLIIERGCDIHENHVET,

3 FREAEIIAORIL DO MFIFICIEFELEEA,

*1 The length depends on the motor.

*2 The actual placement may differ.
*3 These bolts are for reducer assembly purposes and do not affect installation.

101



FrAvR
917

Gearhead
type

Y’ S5 =
WPG-80- []-CR-14 [ (8< AN#i{E = 14) i
(8<Input shaft diameter =14) %% =
118 (% 1)
45 73 (1)
0-ring 5 20 36.5 16.5 (% 1)
ST L-M5X 11 (% 1)
- 9 =<
| 065 (% 1) § ,_é
I =\ | ] @ ﬁ
] S
: K =
= 511 T A
EE s ’ /§
\)@g\v g
] — =] SR
5 (x 1) SILIGT) (% 1) Ss ¢ %%
REN 35 (% 1) 70 (%) %i)é:” %i@ %
1 EROTHEERFETT . MAE—FICL>THERELLET . EE
W2 EBRORBLIZEGDHENHVET, e
3 R AORIL N OEHRUM FICEHELI T A, = om |
*1 The length depends on the motor. 2g B
*2 The actual placement may differ. % = Fl
*3 These bolts are for reducer assembly purposes and do not affect installation. é 3 1\£
S =
&3 b
L
7
4
WPG-80- (1 -CR-19 [0 (14< AQEh#E= 19)

(14<Input shaft diameter = 19) [

127 (% 1)
45 82 (x1)

0-ring 5 20 37 25 (1)
S71 L-M6x 13 (1)

T

®138
®113 h7
®78
|
L]
1
‘ ] T
@80
\ﬂ
|
JJ},L

926 HT

]

BT0(GT) (%
7
[ [

\
]

6 (x1) #19(G7) (1)
15 50 (1) #90 [ 1)

#1 ERHOTEIRKRETY . S E—ZICE o THERELET,

W2 EEDOERBLIIELDIGENHVET,

3 BRI AR DOV ICIFHELIE A

*1 The length depends on the motor.

*2 The actual placement may differ.

*3 These bolts are for reducer assembly purposes and do not affect installation.

FLEXWAVE WP>1—X 102



Gearhead type

EanaTE (§$ MEBRSE) Life estimation (Elastic bearing)

n-i_%_t(ip 12 2 T8BZEW,

Please check the formula on p. 12

S

FEaetE (EHF) Life estimation(Main bearing)

B EE#ZAKR(VO0RO—J83) Main bearing specification(Cross roller bearing)

JODEYFAE | F7ty b | EABEREE | BAREEHEE | FEE—XV b | =XV Ml
- HAZ Pitch circle diameter Offset Basic dynamic | Basic static load Allowable Moment
. . of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x10"Nm/rad
&5 0.0350 0.0095 4700 6070 41 4.38
42 0.0425 0.0095 5290 7550 64 7.75
WPG-[J-[J-CR| 50 0.0500 0.0095 5780 9000 91 12.8
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
o Fr,
W EfR/ X y—V Fr,
Operation cycle example > L1 F
9 y P ZY7 LI E | ry -
Radial load ! Fry ,
! Time
Fa,
Fa,
TEUYILVE Fa,
Axial load Fas FrFi]
! Time
ny 2 N3 %
Hi A EE 2K - \Un
Output rotation 2 RSP
speed t |t [ty | ty | Time
W S ER AT
External load L L
110
. i
F L
EQ,i, ] o S S
m]\j E 7
—| Fa o
= L |
]

SEXE p. 14 2TSBCIZE L,

Please check the formula on p. 14

103




FrAvR
917

Gearhead
type

SEIB | Iubricant information

{EHYY—R crease %le%
237w ZSFB No. 1 (358 R R A%t) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.) ?f gcé
{FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature) -
§)— RIS T HEEA B H AAHTT 0T, Z0FETEALVLEITET,
Grease is already sealed inside the reducer at the factory, so it can be used as it is. 5 —
3 &
S
(=& NIV Transmitting Torque s
AL MER{ Bolting

RILEDFER MLV FTFRDBYUTY,
IV AR ML ICTUREF RS ML D RGUETOTITIEFRLSLZE L,
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

AL MEEAST ML Tightening torque for bolts

() WD
[OHEER) WD

(Buiieaq urepy) uonewnsa aji

Juonjew.oyul Jueauqn) | /(Bueaq onse|3) uonewnsa aji

AL YA X Bolt size M3 | M4 [ M5 M6 | M8 [M10 FHEFERILL @ BREKXS 12.9 Bk g Q?'J
fifs b4 [Nm] [Tightening torque | 1.9 | 43 | 87 | 15 | 36 | 71  Recommended bolt : E5 <
Strength rating above 12.9 ‘% E

e}
= I~
. 2
13)% I‘)[/O Bolt specifications and Transmitting torque 7

HAH 75 Ut Output flange attachment

g4 X Size 35 42 50 63 80
AL A X Bolt size M4 M5 M6 M8 M10
RIL b AL Bolt count 6 6 8 8 8
B PCD [mm] |Bolt PCD 23 27 32 42 55
4T Lo [Nm] |Tightening torque 4.3 8.7 15 36 71
{=Z rJLY [Nm] |[Transmitting torque 56 106 238 566 1177

A VEFILFPESA (CR) Internal gear attachmen

-

T4 X Size 55 42 50 63 80
ALY A X Bolt size M4 M4 M5 M5 M6
NIV M AREK Bolt count 8 8 8 10 12
Bt PCD [mm] |Bolt PCD 65 71 82 96 125
#E4+ L4 [Nm]|Tightening torque 43 4.3 8.7 8.7 15
{2 b JLY  [Nm] |Transmitting torque 210 230 430 629 1392
A2 FIVE VIS
Internal gear attachment == :3
A
HHTZIVEMT =
Output flange B 737777777
attachment
il
1

FLEXWAVE WP>1—X 104



Nl

—All for dreams

0 ZDHEOAVIF2024F 1A REDHNE T HADHNR - AR LIEHEDIDICEE T2 LD BDET,
o CERADRIFERFAZEE LKBFTAD L ELIBEUVLIETE L,

ZFu DRSS J70)05-tR &4t

[m]7 75 _
C):f:w' FEE -HeE7+—LTOBRVEDLEIRIES

https://www.nidec.com/jp/nidec-drivetechnology/inquiry/

ERNERILIIER

https://www.nidec.com/jp/nidec-drivetechnology/corporate/network/sales/

Copyright NIDEC DRIVE TECHNOLOGY CORPORATION. All Rights Reserved.

ZFyIES4 IF D)0 %NSkt
AABEY Y KRR 2083 F4818IC (25 v 7 RS1T775/OYV—#REH | IHBEELELL

1T-2401010 409308



